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Question Number : 1 Question Id : 91394316185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which among the following is a cognitive characteristic of learner ?
Options:

Sensory perception
91394363601 :



Belief
91394363602,

Academic self-concept
91394363603,

Level of visual literacy
91394363604, -

Question Number : 1 Question Id : 91394316185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= 4 9 3 T et o1 H9HeEs o ?

Options:

Q12942626801 5 I a'sl"E[
91394263602, ' H " El
IhTeHeh T HoT

91334563603

YT TIERAl 1 &Y

2153394263604

Question Number : 2 Question Id : 91394316186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As a teacher you wish to predict the capacity and potential success in your subject. Your
main purpose is to predict, or to identify individuals who have greatest potential for
development along special lines or who are likely to profit most by special training. Which
test you would apply to accomplish that ?

Options:

Aptitude test
91394363605

Intelligence test
91394363606

Personality test
91394363607, ‘

Prognostic test
91394363608

Question Number : 2 Question Id : 91394316186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

21594283605, Eq.ﬁ{‘ Il qﬁw

gfg Tdem

B1334563606.

faded TLIeu

B1334Z63607.

2153942836085, 1

Question Number : 3 Question Id : 91394316187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Jean Piaget, there are stages of cognitive development.
Options:
2
91394363609,
4
91394363610,
6
91394363611,

H1334563612, 8

Question Number : 3 Question Id : 91394316187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

I3

91334363609,
B91334563610.
91334563611,

91334563612, 8



Question Number : 4 Question Id : 91394316188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
John Dewey explained school as a/an institution, and education as a
process.

Options:

Social, philosophical
91394363613,

a1394363614  O0Cial, social

Economical, philosophical
91394363615

Environmental, psychological
91394363616 '

Question Number : 4 Question Id : 91394316188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

GTHISTeR, ST9I-eh

H1334563613.

91394363614 S191%h, SRS

D ARANIEED

91334563615,

TATEROTE, HATAAT R

91334563616,

Question Number : 5 Question Id : 91394316189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following proposed theory of Multiple Intelligencies ?
Options:

g :
a1zaazs361>  Olgmund Freud

T .
1304363615 L1oward Gardner

1394353610 LrIbert Einstein



C Nag
91304363620, J€aN Plaget

Question Number : 5 Question Id : 91394316189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
sgfay U= o Tagid s afaured fr=ifea § 9 foree foman?
Options:

- Tome wiae

91334563617

_%ﬁaﬁmé'—ﬂ

2153394263618

B91334563619. " li EEEI l
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B1334563620,

Question Number : 6 Question Id : 91394316190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Empirical research in social sciences is associated with :
Options:

913943263621 Fictional narratives

Positivist phi[nﬁuphv
91394363622, A

1394363605 [1istorical artifacts

Religious practices
91394363624,

Question Number : 6 Question Id : 91394316190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

Bl IRERC G ED

B1334563621.

91394363602 SINRItHS o114
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H1334563623.
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21594263624,

Question Number : 7 Question Id : 91394316191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reasoning from a specific case to a general conclusion is known as :
Options:
o150436360c  Ocientific logic

Inductive logic
91394363626

Deductive logic
91394363627,

Theoretical logic
91394363628,

Question Number : 7 Question Id : 91394316191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

b - s
H1334563625. S3lli-en den

L%
91394363606, SITHATCHSh d<h

T T

91334563627

. ‘ a%

B1334563628

Question Number : 8 Question Id : 91394316192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of review of literature includes :
a) To understand the subject background
b) To formulate research questions

c) To find out relevant methodology

(

(

(d) To debate the ethical aspects of research
(e) To carry out meta analysis of bibliography

f)  To identify the data sources

Options:

(a), (b), (c) and (d)

2153394263629,

(b), (¢), (d) and (e)

B91334563630.

(a), (b), (c) and (f)

H12334563631.

91394363632, (), (d), (e) and (f)

Question Number : 8 Question Id : 91394316192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

41394363629, (a), (b), (0) 3R (d)

(b), (0), (d) 3R (e)

B1334Z63630.



Q1294263621 (El), (b)’ (L) a:ﬁT (f)
(c), (d), (e) 3 (£)

H1334563632.

Question Number : 9 Question Id : 91394316193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If you are to calculate Spearman’s rho, what kind of data you would enter ?

Options:
91394383633 Actual scores

91394383634 RRanks

10 " 1’ -’ l. - -
915394363655, Dichotomous data

MMINE s
T Nominal data

Question Number : 9 Question Id : 91394316193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
|
21394263633, didlidh Hi

2153942636354, 5

fears sATFe
Q1294263635 .

F ATFHST

91334563636

Question Number : 10 Question Id : 91394316194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A variable that measures the effect of a manipulated variable, is known as :
Options:

01294363637 Independent variable



Dependent variable

91394363638,
-1 1 'r -~ I-' —)

91394363639, Confounding variable
= g

1394353640, —ontrolled variable

Question Number : 10 Question Id : 91394316194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

Tdd =1

B1334563637.

H133456363E. ad

iy =1

B1334563639.
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91334563640,

Sub-Section Number: 2
Sub-Section 1d: 913943816
Question Shuffling Allowed : Yes

Question Id : 91394316195 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension



Read the following passage carefully and answer questions from 11 to 15.

It has to be noted that, although certain overall results had been obtained in the matter of
economic growth in the developing countries regarded as a group, little progress had been made
towards the establishment of the new international economic order within the
framework of negotiations among nations for the purpose of applying the principles adopted in
1974 by the United Nations General Assembly. The situation appeared to be marked by a slowing
down at world level in the effort to find a solution to most of the major problems, due to certain
inability to control the evolution of societies and economies, and a fairly widespread feeling of
uncertainty as to the future. The changes which have occurred between 1978 and 1980 have only
magnified the difficulties, so that today there is much talk of a deterioration in the international
situation. This is immediately apparent in regard to inequalities between human beings, whether
considered as individuals or groups or nations. Overall economic disparities have not been
attenuated. In many countries, per capita gross national product remains less than $ 300, while in
others it is situated at levels ten, twenty or even thirty times higher than this amount. In some rich
countries, the average income is a hundred times higher than in the poorest countries. Particularly
drastic is the state of penury, destitution and, all too often, homelessness of those populations that
may be regarded as history’s most recent rejects: the disinherited masses of the poorest countries.
In these countries, whose economic situation is particularly critical, the problems of hunger, disease
and ignorance experienced by a large part of the population seem to all but paralyse efforts made
to cope with them.

Sub questions

Question Number : 11 Question Id : 91394316196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What was the purpose of principles adopted by the United Nations General Assembly ?

Options:
Considering developing countries as a group
91394363641, 2
btaini sults 1 conomic growth o ping co
150436504 ODMAINING results in the economic growth of developing countries
B wwehiror ro - ey
a1za4zs3645  LStablishing a new international economic order
e 1 Fh " < = . : :
e —— Permitting negotiations among nations

Question Number : 12 Question Id : 91394316197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the consequence due to the little progress made by nations during negotiations 7
Options:
91394383845, Lvolution of societies

91594363646, Control of economies



91394363647 UN mtervention

91394353648, Uncertain future

Question Number : 13 Question Id : 91394316198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is apparent due to the changes occurred between 1978 and 1980 ?
Options:

2 - : +
1394363640 L 1aN adjustment

support of rich co
150436365, OUPPOrt of rich countries

Reduction in poverty
91394363651 ‘

- = T —) lr = L-|
a1z0a3s3es, INEquality between human beings

Question Number : 14 Question Id : 91394316199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How economic disparities are reflected ?
Options:

T $ 300 per capita GNP as benchmark

Collectivising individuals into groups or nations
91394363654,

Higher average income for poor countries
91394363655,

Average income of some countries is a hundred times higher than in the poor countries
91394363656,

Question Number : 15 Question Id : 91394316200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Whom do you call as history’s recent rejects ?
Options:

" .,‘.,1 .,’ i - "
s1394363657, 11omeless population



lonorant population
91394363655, oroTallt popule

150436365 LAISE part of population

1594363660, Rich countries

Question Id : 91394316195 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 91394316196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

forespTErefiel <91 hl Weh HHE HEAI

91334563641,

TIhTaYNe <91 § 37T Taehmd o 9RomH 9T el

91334563642,

Teh 4 ST MUk el Tud &l

91234563643,
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91334563644,

Question Number : 12 Question Id : 91394316197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

HATSI| h1 shideh fahTd

91334563645,

AYTTEIHAT 1 FF0

91334563646,

T T 1 eqad

91334563647,

A= vfa=

B913345636458.

Question Number : 13 Question Id : 91394316198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

AT G

2153394263649,

Q13943263550 %-Q:n m '{:H:[?H
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21594263651,

Tl o s ST

91334563652,

Question Number : 14 Question Id : 91394316199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 15 Question Id : 91394316200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B1334563657. | % | | '|

91334563658, : | :
91334563659, | ’ aﬂw % il

91334563660, | %‘\;T

Sub-Section Number: 3
Sub-Section Id: 913943817
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394316201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In classroom communication, analogies are considered :
Options:

— _‘ " w y w =
a1soasszeey  OUPpPOrting evidence

91394363665 Unwanted information

91394353683, Control devices

51394363664, Attention-breakers

Question Number : 16 Question Id : 91394316201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
AT TUUO H TGV I T HAT ST 8 2

Options:

91394363661, qreds qied

AT =1
21594263662,

T U 1)
91394363863, |1 SANN

91394363864 A1 HIT Sh{q Al

Question Number : 17 Question Id : 91394316202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : Empathy is essential for effective communication between the communicator
and the communicatee.

Reason (R) : Empathy links the teacher and students.

Code :

Options:

91394363665, Both (A) and (R) are true

Both (A) and (R) are true, but (R) is not the correct explanation of (A)

91394363666.
o1394353867 (A) 1S true, but (R) is false
o139436306 (M) 18 false, but (R) is true

Question Number : 17 Question Id : 91394316202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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(A) 3R (R) <1 9&l €, 5 (R), (A) =1 Tl =& 6 2|

B1334Z63666.

(A) &I &, T (R) |1 =1 2|

91334563667,

(A) HeI 74l &, T (R) T B

H1334563665.

Question Number : 18 Question Id : 91394316203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Computer - assisted language learning is called :
Options:
Aided learning
91394383669, ‘ O

0 L o 2
91394363670, Communicative call

9139436357, Language logic

Electronic mediation
91394363672,

Question Number : 18 Question Id : 91394316203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

) —~ 4
91394363659, I T AT AT

HUYUTcHe: hic]

91334563670

YT R

ENEAIRE R CZESG !

91334563671

91334563672

Question Number : 19 Question Id : 91394316204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The word "haptics” denotes :
Options:



Spatial communication
91394363673,

1504363674 1 IMely communication

o s ke
91394363675 Staggered communication

Tactile communication
91394363676,

Question Number : 19 Question Id : 91394316204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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H1334563673

91334563674
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91334563675

- TR HYWOl

91334563676

Question Number : 20 Question Id : 91394316205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Social media platforms have created a :

Options:

R st i S
ey Society of reactionary opinions

=, }..‘J T } -q} I.-| - -’ Il'!
a15043s3ere OOCIELy Of consumables

Society of neeativity
91394363679, ty =y ty

Society of networking
91394363680, :

Question Number : 20 Question Id : 91394316205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394363677, qidishaTeH STTYHT 1 TS

b ¥ P
91394353675, S0 a0 d HIS <kl HHTS

JhTcHs HHTS
91394363679,

ATkt 5= AT

91334563680

Question Number : 21 Question Id : 91394316206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If DICE is coded as FLGJ, then the code for BITE will be :

Options:

91334563681, D LXI

B9133456365%. DKYH

91334563653, DKVY

'DICL

2153942836854

Question Number : 21 Question Id : 91394316206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ffe DICE %1 %< FLG] € a1 BITE 1 %< 21 :
Options:

H1334563681. D LXI

H1334563682. DKYH

H1334563683. DKVY

91334563654, DICL



Question Number : 22 Question Id : 91394316207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The next term in the series 7, 11, 19, 35, 67, is.

Options:

17-
H1334563685. 121

91334563686,

1

2

B1334563687. 1

C
H133456368E. 29

Question Number : 22 Question Id : 91394316207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
29 @ H 3 92 ¥ 1 7, 11, 19, 35, 67, |

Options:

17-
21594283685, 121

H1334563686.

1

2

H1334563687. 1

C
H133456368E. 29

Question Number : 23 Question Id : 91394316208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term in the letter series KB, JH, IM, HQ, GT, is.
Options:
91394363689, LY

7
H1334563630, EV

H1334563691. FU

B13345636392. EU



Question Number : 23 Question Id : 91394316208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frfafaa auigss § 37el 92 ® - KB, JH, IM, HQ, GT, 1

Options:

EY

B91334563659.

7
912334563630, FV

H1334563691. FU

B13345636392, EU

Question Number : 24 Question Id : 91394316209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the word which is different from the rest ?
Options:

¥
g1394363693_1 apcr

91394363694, "V ool

m ] PP
o139436369s. | lastic

lute
913943636396, -

Question Number : 24 Question Id : 91394316209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fre=fefad § 9 99 vss giHe
Options:

91334563633, z

B913345636594.

91334563635,

91334563656, E



Question Number : 25 Question Id : 91394316210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pointing to a man, Abhijit said “His grand daughter is the only daughter of my brother”.
How is the man related to Abhijit ?

Options:

41394363697, Father

91394353698, Grandfather

91394363699, UNCle

Brother-in-law
91394263700,

Question Number : 25 Question Id : 91394316210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fordt &9 1 IR Z9TRT FXd g SAfYsiia 3 e, ¢ S9! Uit B 9 i 3Thell ser g1
39 3AEHT T ARSI T 1 gay § 2

Options:

91334563657,

HE

B13345636595.

B1334563699. =l

91394363700, 3:[
Sub-Section Number: 4
Sub-Section 1d: 913943818
Question Shuffling Allowed : Yes

Question Id : 91394316211 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



Items of Expenditure (¥ in crores)
Year Salary [ Fueletc | Bonus |Interest on Loans| Taxes
2008 57.6 19.6 0.6 4.68 16.6
2009 68.4 22.4 0.5 6.50 21.6
2010 64.8 20.2 0.76 8.32 14.8
2011 67.2 26.6 0.74 7.28 17.6
2012 84.0 28.4 0.80 9.88 19.6

The above table shows details of expenditure incurred by a tea garden during the years 2008
to 2012. Note that all expenditure reported is in crores.

Answer the following questions based on the data given in the above table.

Sub questions

Question Number : 26 Question Id : 91394316212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The average yearly expenditure on “Interest on Loans” during the period 2008-2012 was
approximately.

Options:

: s 1 P y
91394383701 RS- 6.33 crores

91394383702 IS. 6.88 crores

Rs. 8.32 crores
91394363703,

- L I ) - -
91394363704, Rs. /.33 crores

Question Number : 27 Question Id : 91394316213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Bonus as a percentage (%) of salary was highest in the year ?

Options:

B912334563705. 2008

B91334563706, 2009

B1334563707. 2010

)1
91334563708, 2011



Question Number : 28 Question Id : 91394316214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which year, was the total expenditure (over the five heads of expenditure listed in the
table above) the least ?

Options:

2008
91394363709,

2915334263710, 2009

91334563711, 2010

2011
91394363712,

Question Number : 29 Question Id : 91394316215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which vyears, the percentage (%) growth of expenditure on salary (as compared to the
previous year), was more than 10% ?

Options:

1304365713 2009 and 2010

a150a3a3714 2010 and 2012

o1394363715. 2011 and 2012

91394363716, 2007 and 2012

Question Number : 30 Question Id : 91394316216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which year, the expenditure of taxes and “Interest on loans’, was less than the expenditure
on fuel etc. ?

Options:
21394263717, 2009
2010
21394263718,
2011

913345637145,



2012
91394363720,

Question Id : 91394316211 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

TRl T (FAST H)

EL| I |TEF TANG| SFE |HOI W S| W
2008 57.6 19.6 0.6 4.68 16.6
2009 68.4 22.4 0.5 6.50 21.6
2010 64.8 20.2 0.76 8.32 14.8
2011 67.2 26.6 0.74 7.28 17.6
2012 | 84.0 28.4 0.80 9.88 19.6

IUYA dIferst ad 2008 ¥ 2012 % SRF Tsh =1 9FTH o @4 o [9aLvil ol g9iidl ¢ | 98 =4F § W@
o quff = e 99 | B

U dlfeerl H e SAfehel o SR W FHeifehd 9 % 3 < |

Sub questions

Question Number : 26 Question Id : 91394316212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T4 2008 - 2012 FT 7Y F SRE BN W =N W SAET At a7 o |
Options:
YT 6.33 FUS T

H1334563701.

Y 6.88 FS T

91334563702

YT 8.32 FS T

91334563703

ST 7.33 FS T

91334563704

Question Number : 27 Question Id : 91394316213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a9 &1 Ffqeadl & ®9 O 9A9 fhg 99 3=q9 o912

Options:

B91334563705. 2008



B91334563708. 2009

B1334Z63707. 2010

201
H1334563708. 2011

Question Number : 28 Question Id : 91394316214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingIeLine Queﬂion Option : No Option Orientation : Vertical

maﬂﬁwm(zﬁaﬁaﬁmﬁaﬁmmﬁmﬁsﬂﬁﬁ)mmm?

Options:

2008
91394363709,

912334563710, 2009

2915334263711, 2010

2011
91394363712,

Question Number : 29 Question Id : 91394316215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frg 94 o 999 W =g 1 gfaeraar gfg (fo=e a9 =61 gaa1 °), 10% 9 31f4e ot ?

Options:

91394383713, 2009 #HR 2010

91394363714, 2U10 R 2012

91394363715 ~UL1 AR 2012

a1394363716, 2009 R 2012

Question Number : 30 Question Id : 91394316216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g 99, 3 IR 0 W S WY $4F I W ST &1 gl § FE 917

Options:




2009

21394263717,
2010
21394263718,
201"
91394363719, 2011
2012
21394263720,
Sub-Section Number : 5
Sub-Section I1d: 913943819
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 91394316217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Two propositions are contradictory when,

Options:
Truth of one proposition implies falsity of the other and vice versa.

91394363721, PO} k alstty ¥ 2

N7 f 0 yposition supposes alsity o ) '
1304563700 1 TULL OF one proposition supposes the falsity of the other and vice versa

ne proposition doesn’t guar ity o rther.
o1304363705 L TUth Of one proposition doesn’t guarantee the falsity of the other

Truth of one proposition rejects the falsity of the other and vice versa.
91394363724, :

Question Number : 31 Question Id : 91394316217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATy e fadiefi 2t 8 e
p U HI=dl &1 T gL &1 MHea amd € 3R foeima: T 2 2|

91334563721,

e WAl 1§ THY &1 fHeadl &1 geime a1 ¢ iR faeima: T 2 2

91594562722

Uk HId] 1 Hd g8 w1 THeaan st TRET =] 2|

H1334563723.

s WAl 1 Tl Y ohi THeAa1 &1 18 il ¢ IR faeima: T 2 |

2913594363724



Question Number : 32 Question Id : 91394316218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Among the following identify two statements which are in such a relation that the truth of
one implies the truth of the other, but not conversely.

Statements :

(a) All plastics are synthetic.

(b) Some plastics are synthetic.

(c) Some plastics are not synthetic.
(d) No plastics are synthetic.

Code :

Options:

(a) and (b)

91334563725,

(a) and (c)

B13345637Z26.

(a) and (d)

B1334563727.

(b) and (d)

91334563728,

Question Number : 32 Question Id : 91394316218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafad § 9 U8 1 Sl ot ve=m & S T8 g6 § ¥ 5 U o 9 T F 9 1 Fard € W
foreiTa: U @l e 2 |

hdH :

(a) T AEF Yo F |

(b) FS EAfE Hivee )

() T MLH G T8 2|

(d) = i Hivere T8 T

Options:

(a) 3R (b)

H1334563725.

(a) 3R ()

21594263726,



(a) 3R (d)

91334563727,

(b) 3R (d)

B133456372E.

Question Number : 33 Question Id : 91394316219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the argument which involves a leap from the known to the unknown.
Options:

Deductive areument
91394363729, e’ -

Reductive argument
91394363730

Inductive argument
91394363731,

Analogical argument
91394363732,

Question Number : 33 Question Id : 91394316219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
39 9 ki U29H H T99H Fd T TG TF 1 THA IEA © -

Options:

i

EULCEIREIGE]

91334563729,

91334563730, STt g

HMATHATHS E|$
31394363731, ¢

H1334563732. z

Question Number : 34 Question Id : 91394316220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises (A and B). Four conclusions are drawn from them. Select the
code that states validly drawn Conclusion(s) (taking the premises individually or jointly).
Premises :

(A) No non-literates are graduates.

(B) All non-graduates are non-teachers.
Conclusions :

(a) All teachers are non-literates.

(b) All teachers are graduates.

(c)  All non-teachers are non-graduates.
(d) No non-literate is a teacher.

Code :

Options:

(a) and (b)

91334563733,

(b), (c) and (d)

91334563734,

(c) and (d)

91334563735,

(b) and (d)

91334563736,

Question Number : 34 Question Id : 91394316220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1= 2 TR a9 (A 3R B) feu U €1 3T IR Ry et U g1 3 F2l = L S (SER
AT F TFA A HA B H o9R) 94 w9 F frer T fremet 61 99 €
ST dTa :

(A) HE ot FReR Fas 728 2

(B) | TR A fonershar 1

frend

(a) quft foreres fRem €1

(b) G foreres w=maek €1

(c) | forershet R = € |

(d) B ot fReR fees =8 T

e

Options:

(a) 3T (b)

2153394263755,



(b), (c) 3 (d)

91334563734,

(c) 3 (d)

91334563735,

(b) 3R (d)

91334563736,

Question Number : 35 Question Id : 91394316221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The argument which claims that its conclusion is supported by its premises conclusively is :

Options:

- ‘_T1 = - o
130436373, Linalogical argument

-t AT o
91394363735, Inductive argument

Demonstrative argument
91394363739

Deductive argument
91394363740.

Question Number : 35 Question Id : 91394316221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IF 1 € a1 A1 ¢ 5 391 Fohd Ao &7 9 399 SAER 99 g1 9afYd €; Fedd ©
Options:

- HHEATY T

215394283757

9139436375 SIHTHAICHh doh

- JARHS

91334563735

91394363740, |1 HAICHS don

Question Number : 36 Question Id : 91394316222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the binary equivalent of the decimal number 53 is 110101, then the binary equivalent of the
decimal number 50 is given by :

Options:



91334563741, 110011

91394363742, 110010

91334563743, 110001

1204363744 110100

Question Number : 36 Question Id : 91394316222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afe M &A1 53 F1 ITH FUqed (IR IfEEacie) 110101 € A S9HAS H@N 50 F1 I
AT B :

Options:

21594263741, 110011

91394363742, 1 10010

91394363743, 110001

91394363744 110100

Question Number : 37 Question Id : 91394316223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is not part of suite of products of Microsoft Office ?
Options:

913943263745, Microsoft Excel

LTS - 2 r B P
91394363746, Microsoft PowerPoint

91394363747 Microsoft Publisher

. Microsoft Windows

Question Number : 37 Question Id : 91394316223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fr=ifra o 9 FF ARHER 39T 998 (J2) & fee & €2




Options:

b S, -
91394363745, =M Ll

91394365746, 1 enIMle HlAHE e

91334563747, |5: T4 JTsetRI
91334563748, EI K |

Question Number : 38 Question Id : 91394316224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The Internet began with the development of :
Options:
2153942363749 USENE]

91394363750, LXtranet

91394363751, ARPANET

91394363752, [Ntranet

Question Number : 38 Question Id : 91394316224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
3 I YEIATT fohdF fom 4 g2 ?
Options:

91334563745, [‘
91334563750, o

215394263751,

2153394263752,

Question Number : 39 Question Id : 91394316225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



RFID 1s an acronym for :
Options:

Roaming Frequency Identification
91394363753. ‘

’ : T . — 3 A L
o1394353754 Radio Frequency ldentification

Runtime Frequency Identification
91394363755. ’

3 - H T Hiouisn
sisaisessey emote Frequency Identification

Question Number : 39 Question Id : 91394316225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR UF. L. 1. fFue y=-Hay €72

Options:

91334563753, : | d

91334563754, | ” | 5 :
91334563755,

91334563756, !

Question Number : 40 Question Id : 91394316226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Bluetooth is an example of :
Options:

J
91394363757, L AN

91334563758, LAN

91394363759, MAN

B13345637E0, WAN

Question Number : 40 Question Id : 91394316226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2 Tt Sa & 7

Options:

91334563757, ﬁﬂ“qﬁ

L G AL B

215334263758,

B1334563759. ‘Q'rq‘q'-q‘:l

CED R

215394263760,

Question Number : 41 Question Id : 91394316227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Recently in Brazil, a bacterium showed the antibiotic resistance, which was not reported
previously :

Options:

Pseudomonas species
91394363761,

Salmonella species
91394363762,

3 T - - — X
1304363763 [alebsiella species

Streptococcus species
91394383764

Question Number : 41 Question Id : 91394316227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o &1 ¥ sirsttel § fory sftam] 8 wfa—Sifasw (ddiemifes) ufaty foar fean s uget 3 & =1

Options:

51394363761, L el SIS

e i

B1334563762

e wE

B13345637VES

51394383764 % clriaens Il



Question Number : 42 Question Id : 91394316228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

One of the following has a positive human influence on the environment :
Options:

91394363765, Deforestation

Over pop ulation
91394363766,

2 *
91394363767, Pollution

91394363768, Conservation

Question Number : 42 Question Id : 91394316228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafafad § 9 fFee e | SIS qHa-99md © 2

Options:

91 T FelE
Q13942637 EE, $
Q129426376 E,

2153394263767, ?‘\

*

HLET

215394283768,

Question Number : 43 Question Id : 91394316229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The environmental impact of soil erosion can best be mitigated by removing
vegetative cover only from the specific site on which construction is to take

place.

Reason (R) : The environmental impact of soil erosion can also be mitigated by disturbing
the vegetation in adjacent areas as little as possible.

Code :

Options:

1394363769 DOth (A) and (R) are true and (R) is the correct explanation of (A)



Both (A) and (R) are true but (R) is not the correct explanation of (A)

51394363770.
siseisesma (A) 18 true, but (R) is false
1304363770 (A) 18 false, but (R) is true

Question Number : 43 Question Id : 91394316229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IFYHRAT (A) : oI AWST o YIELOT Y91E =1 kael 070 & & foau 29 e favm 4
FTEafd I gL Sgd T4 KH fohan S Tehdl 2 |
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e

Options:

(A) 3R (R) S 9&l €, 3 (R) (A) 1 Hel 71 ¢ |

B1334563769.

(A) 3R(R) < W& €, T (R) (A) 1 HEl =0 e ¢

91334563770

(A) H@l B, T (R) TTeTd B

91334563771

(A) e €, TR (R) WET 2

B1334563772

Question Number : 44 Question Id : 91394316230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Hydropower is an exhaustible energy resource.

Reason (R) : The power of falling water would neither diminish nor get exhausted.
Code :
Options:
a1304363775 DOt (A) and (R) are true and (R) is the correct explanation of (A)

01304363774 DOth (A) and (R) are true but (R) is not, the correct explanation of (A)

a1304363775. (A) 1S true, but (R) is false

o130438377¢ DOt (A) and (R) are false



Question Number : 44 Question Id : 91394316230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ATHHIT (A) :  STATTHA Sl ol AT B dTe TE1EE T |
T (R) : IR ¢ St =1 iferd =11 91 " 2 A1 & JHT 21 |

che :

Options:

(A) 3R (R) SH1 H&l € 3iR (R), (A) T Hel 7 € |

2153942637735,

(A) 3R (R) SF1 T2 € T (R), (A) T Tl =aremn T4 g |

91334563774,

| (A) TE &, T (R) TTord T

215394283775

(A) 3R (R) SHI T € |

91334563776,

Question Number : 45 Question Id : 91394316231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the scheme of life, soil is an essential resource of life, as it plays the following roles.

(a) Itis a reservoir of carbon.

(b) It is the medium for growth of food and energy for the animal world.
(c) It provides oxygen to the biotic community.

(d) Itis a natural reservoir for the huge amount of water

Select the correct answer from the above :

Options:

(a), (b) and ()

91334563777,

(a), (b) and (d)

B1334563778.

(b), (c) and (d)

91334563779,

(a), (c) and (d)

215394263780,

Question Number : 45 Question Id : 91394316231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (b) 3R (c)

B1334563777.

(a), (b) 3T (d)

91334563775,

(b), (c) 3R (d)

B133456377 3.

c) 3R (d)

91394263730, (a), (

Question Number : 46 Question Id : 91394316232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In terms of year of establishment, which open university is the youngest among the following
(established most recently) :

Options:

T, Tamil Nadu Open University, Tamil Nadu

Odisha State Open University, Odisha
91394363782, ’

= - -~ - %, = -] = L1‘ T L‘._‘
o1594zas75z rishna Kanta Handique State Open University, Assam

s e R ? _ ; o o
— Pt. Sunderlal Sharma Open University, Chattisgarh

Question Number : 46 Question Id : 91394316232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:




41394363751 dlHcilg Had laxdidelicd, diHdqlg

~ 3fifew T g favafammea, sufewm

215394283782

91334563753

91334563754

Question Number : 47 Question Id : 91394316233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following :

Set -1 Set - 11
(a) Swayam Prabha (i) FM education radio network
(b) GIAN (Global institute (ii) Internet audio counselling service
of Academic Network)
(c) Gyan Vani (iii) Free DTH channel for education
(d) Gyan darshan (iv) Talent pool of scientists and entrepreneurs for
engagement with Indian higher education institution
(e) Gyvandhara (v)  Educational Television Channel
Code :

(@) (b) (c) (d) (e)

Options:

91334563755, (1) (I_I'.) (V) (IV) (I_LI'.)

01304363786, () (1) () (1) (V)
91394363787, (i) (v) (@) (v) (i)

(v) (i) @) () (@)

91334563758,

Question Number : 47 Question Id : 91394316233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freifera =1 gHferd =i -

g - 1 qge - 11
(a) TF g (i) UH.EA. foen e qeeas
(b) SISETT. (e = (i) T F THE HAl
Al THSIHF Fed+)
(c) S At (iii) Torem % fow [y L wE =
(d) HEIH (iv) YR I=aaX foren Sl & @y faerst &M
& foru e iR safaal =1 wfaw go
() SFER (v) s eefifasa ==a

Options:

91334563755, (1) (I_I'.) (V) (IV) (I_LI'.)

01304363786, @) (1) (v) (@) (V)
o1394363757 (D) (V) (©)  (v) (i)

(v) (i) @) (v) ()

2153942683788,

Question Number : 48 Question Id : 91394316234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The institutions of eminence tag granted by the union government in public sector are :

(a) 1T, Delhi

(b) 1T, Bombay

(c) Jawaharlal Nehru University, Delhi
(d)  University of Hyderabad

(e) Pondicherry University

(

f) Indian Institute of Science

Options:

(a), (b), (d) and (e) only

91334563759,

c), (e) and (f) only

B91334563730. (b)’ (



(El), (b) and (f) UH[}-'

913345637391,

(l.'_"), (d-)r (E) and [:f} (]]_‘l[}r

913345637392,

Question Number : 48 Question Id : 91394316234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Yd TN A FrEsiTe &5 1 o gafeps Heem 1 g fean 22
(a) STE.3AEE, T
b) maﬁ?ﬁ,a}ﬁﬁ

(

(c) SR Je% favafaeme, faed
(d) Tevars favafammer

(e) urfvg={l favafaame

() YR faqm HeH

fad (a), (b), (d) 3T (e)

2153942637859,

&% (b), (c), (e) 3R (f)

91334563730,

fa® (a), (b) 3R (f)

91334563791,

fadh (c), (d), (e) R (f)

913345637392,

Question Number : 49 Question Id : 91394316235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following was launched on 2 October 1978 (the birthday of Mahatma
Gandhi) ?

Options:

National Adult Education Programme
91394363793,

91394363794 LAUSAT



First educational radio channel
91394363795,

10+ 2+ 3 Scheme
91394363796,

Question Number : 49 Question Id : 91394316235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
friferd 8 9 9 2 SRR, 1978 (HRICH T o1 57 foad) &1 URY T 7o o1?

Options:

T2 Uig e Feswy

913345637393, o

915924363794 %
™ %

o Ifferes IFed =

91334563735,

10 +2 + 3 IS

B13345637 36,

Question Number : 50 Question Id : 91394316236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
On the recomendations of which commission, 10+ 2+3 structure was incorporated in the
statement of National Policy on Education, 1968 ?

Options:

] - = -'T _" -l1l.|1 "
91394363797, Kothari Commission

; - el -T " -l1l1. "
91394363795, Mudaliar Commission

91394363799, Ramamurtt Commission

Mandal Commission
91394363300,

Question Number : 50 Question Id : 91394316236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o M &t Fawer 92 10 +2 + 3 L1, T2 e ifd, 1968 & aadqsg § i &l T8 o ?

Options:

IS AN

B1334563737.
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Read the paragraph given below and answer questions :

Women tend to live longer than men, they represent a growing proportion of all older
people. Worldwide in 2017, 55% of adults aged 60 years and over were women, a proportion
that rises to 58% at age 70 and above. Ageing is sometimes assumed to be a concern mainly
in countries with low birth rates, high incomes and effective geriatric health care. But in
fact, the developing regions of the world are home to the majority of the older women. In
2017, there were 280 million women aged 60 years and over living in low and middle
income countries, compared with 119 million in high-income countries. By 2050, 84% of the
population over age 60 is expected to be living in countries currently classified as low and
middle income.

Cardiovascular disease, often thought to be a ‘male’ problem, is the main killer of older
people of both sexes. In fact, each year cardiovascular disease causes a larger number of
deaths in older women than in older men — & million women over 60 years of age compared
to 6 million men in 2004. Chronic heart disease accounts for 45% of deaths in women over
60 years of age. A further 15% of deaths are caused by cancers.

Sub questions

Question Number : 51 Question Id : 91394316238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the ratio of death due to cardiovascular disease among elderly men and women ?

Options:

91394363801, 0
91394383802, ° 4
91394363803, 2 °
91394363804, O 2

Question Number : 52 Question Id : 91394316239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following will be the ratio of elderly population in developed vis-a-vis low and
middle income countries by 2050 ?

Options:

91394363805, 0 %0

91394363806, 10 o4

91394363807, 1 09
18 : 82

91334563808,



Question Number : 53 Question Id : 91394316240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following statements are true ?

(i)  Women live longer than men.
(ii) Women are more among the elderly population.

(iii) Developed regions are the home of majority of elderly women

Choose the correct answer from the code given below :

Code:

Options:

Only (i) and (ii) are true.
913943633039,

Only (i) and (iii) are true.
91394263810,

Only (ii) and (iii) are true.
213942635811,

All (i), (ii) and (iii) are true.
91594363512,

Question Number : 54 Question Id : 91394316241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What percentage of deaths among the elderly women are occurring due to non-cancerous
diseases 7

Options:

91394363513, 55
91394363514, 65
91324363515, 7
91394363516, 85

Question Number : 55 Question Id : 91394316242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following will be used to find out the percentage of elderly women living
in low and middle income countries ?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.



Options:
115
91394363817, 209

< 100

270

91394363818, 2359

x 100

385
91394363819, 270

x 100

91394363820, 11

Question Number : 56 Question Id : 91394316243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following arrangement of causes of death among elderly women is correct

in descending (high to low) order ?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

Chronie condition, cancer, other diseases
91=294363521.

Other diseases, chronic condition, cancer
1294363522

Cancer, chronic condition, other diseases
91594363825,

Cancer, other diseases, chronie condition
219242363524,

Question Id : 91394316237 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 56)
Cesticn Label | Comprehension
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Sub questions

Question Number : 51 Question Id : 91394316238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ag gdt ot wfeenadt § gegarfed dadt Wt % S & areht diat w1 s T E 2

Options:

2915334263801,

B1334563802.

91334563803,

2153942635804,

Question Number : 52 Question Id : 91394316239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a¥ 2060 7 faswfa 2o 6t gan ° Fa it gem s ama <o & 9g &t f gen w0 s
frefefiga & & @ gm 2
Options:

91394363805, 10 o

91394383808, L0 54

91394383307, 11 59



91394383305, 1© B2

Question Number : 53 Question Id : 91394316240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frfefiga & & s-8 Fm wdt € 2

(i) wfgemd geul & surgr o qHY q e w7
(i) g @ 4 wfgenadt 6t gEm s R

(iii) - Aferepre 9g wigend fawfia <o # wdt 7

3 fw e e # @ wd I A g
% :

Options:

91394363800, T WM TAE
o1394363810, 710 W M) TEE
1394363811 T () I (i) T E |

(i), (ii) 37 (iii) @i |
91394363812, - wh e

Question Number : 54 Question Id : 91394316241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gg wfeenatt 1 et § et wfoea A Sew & at 71 3 oo Ed E 2

Options:

91334563813, o5

913345635814, 65

9153394263815, 7

H1334563816. 85

Question Number : 55 Question Id : 91394316242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

115

2 %100

91394363817, S50

3 L

270 100
91394363518, 300

385

3_:' » 100
913943635819, 270

Lj-

270 100

a1394363820. 119

Question Number : 56 Question Id : 91394316243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gg ufgenai it dta & s 6t Frfafaa s sqaens d & s s sqaeen st
(I=e & =[et) ®9 H WA R 2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

oot gam, HEL, 7= U
91394363821,

=g T, Sl g9, et
91394363822,

Far, ol gem, 1= o
91394363823,

ST, =g T, S0l gEn
91394363824,

Sub-Section Number: 2
Sub-Section 1d: 913943821
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 91394316244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following diagrams indicates the best relation between cardiovascular
diseaszes, road accidents and cholera ¥

Options:

915942363825, z
1594363526, E
15924363827, .
15924363520, @

Question Number : 57 Question Id : 91394316244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafiga smtdl & @ F-a1 svtw gegafeft gadt I, ao gdemad 3it 3 & <= dgall day
guitar & 2

Options:

21394263825, E
21394263526, E
21394263827, .
21394263828, Cm

Question Number : 58 Question Id : 91394316245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one among the following important developments did not take place in the area of
population studies in 19™® and 20" centuries ?

Options:

The development of probability theory in Statistics
A1394262829. P P W v

The beginning of Census operations
Q13943263530 g pe

Establishment of the system of Civil Registration
A1=29426=2821. =

The beginning of demographic surveys for collection of data
A1 394263832, g ograp Y

Question Number : 58 Question Id : 91394316245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
194t 3ft 204 warfegat 4 swaen sreram & & # Feafafas & @ w8 seepl vemm ofeq a8
g ?

Options:

2153394263829, i Il

s sfirETEt 6 geaa
91394363830,

H91334563821. i

kgl o wugwr % fore sifwhra adeoil it yoama
91394363832,

Question Number : 59 Question Id : 91394316246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the important milestones/events in India’s Family Welfare Program shown in List I
with their dates in List II.

List I List II
(a) MTP Act (i) 1971

(b) Target free approach in programme (ii) 1977
(¢) Family Planning Programme named (iii) 1996

as Family Welfare
(d) National Population Policy (iv) 2000
(e) National Health Mission (v) 2013
Code:

Options:



(a)—(i), (b)—iii), (e)(ii), (d)~iv), (e)—(v)
91534363833,

(a)(iii), (b)—(v), (e)(id), (d)—iv), (e)—(i)
912342638524,

(a)—ii), (b)—(i), (e)—(v), (d)—(iii), (e)—(iv)
91334563835,

(a)—(i), (b)—(ii), (e)—(iii), (d)~iv), (e)—(w)
91334363536,

Question Number : 59 Question Id : 91394316246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1% wna % yfEn s wefwn f vt ufeemet & gt 16t awh fafimt ¢ fiem
Hifor |

1 1T
(a) R, afufrm (i 1971
(b) wrfwn # wen faa gfeesm (i) 1977
(e) gfER e Sl =1 T 9fEn (i) 1996
Er ILREIRIET
(d) T SgE fifa (iv) 2000
(e) edta wareey foagm (v) 2013
% :
Options:
(a)—(i), (b)—(iii), (e)—(iD), (d)—(iv), (e)—(v)
91394363833,
(a)—{iii), (b}~(v), (e)—(ii), (d)~(iv), (e)~(1)
91394363834,
(a)—{ii), (b)—(i), (e)—(v), (d)—(iii), (e)~(iv)
91394363835,
(a)—(1), (b)—(ii), (e)—(iii), (d)—(iv), (e)(v)
91394363836,

Question Number : 60 Question Id : 91394316247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following States had the largest share of population in the age
group 0 — 14 years in 2011 7

Options:

91394363837, Dibar



Madhya Pradesh

91394363535,
Chhattisgarh

91394363839, thisg

91394363840, °parkhand

Question Number : 60 Question Id : 91394316247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freaferfiaa 4 & ffm v & 2011 4 0 - 14 99 % 91y gy & SHEE & Gad T W °1 7

Options:

feren

H1334563837.

ey
H1334563835. o

91334563829,

913345635840,

Question Number : 61 Question Id : 91394316248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following assumptions is not true about Life table ?

Options:

Life table is a life history of a hypothetical group of le (cohort).
91394262541, v ypo group of peop

The life table cohort is “closed” against migration ‘in’ or ‘out’.
21394263542,

At each age, deaths are evenly distributed between one birthday and the next.
H1334563843.

People die at each age according to a schedule that is fixed in advance and does not change.
913943635844,

Question Number : 61 Question Id : 91394316248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oftae mreft & an # Frefeafas 4 9 F.d sraumon @8 78 & 2

Options:



it Tt |t % T weeslead wg (wemn) i ofted sfaema #
91394363841,

91304363842, 3 AT’ e o S St gl aEm ag” a g |

Yedsh Y W, U o fe & arrer o w6 e geg o awe e g R
91394363843,

Sedteh AT T T AN hl oY Th ATk FTAR A 2 A e & e gt @ aft o s
T g & |

2915394263844,

Question Number : 62 Question Id : 91394316249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the latest United Nations Human Development Report released on 14'H September 2018,
India occupied which among the following ranks ?
Options:

H1334563845. 129

B12334563846. 130

B913345635847. 131

H1334563848. 132

Question Number : 62 Question Id : 91394316249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

14 foraran, 2018 st sl it 7§ FeTan gyewa wee we e faid 4 yna w0 Fofafes 5 2
HH-ATTYH B ?
Options:

2915334263845, 129

B1334563846. 130

91334563847, 131

21594263845, 132



Question Number : 63 Question Id : 91394316250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to National Family Health Survey 2016 — 17 (NFHS-4), total fertility rate
(children per woman) for India is among which of the following categories ?

Options:

91394363849, 0 17
91394363850, 0 o1
91394363851, -0 27
91394363852, 007

Question Number : 63 Question Id : 91394316250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e TRER e TdEv 2016 — 17 (T.U6.UH.0E.-4) % HIER, YN & e FE s @
(ufer afgen =i i gemn) Frafafas 4 & g ool § st 2 2

Options:

91394363849, 017
91394363850, 20 24
91394363851, -0 27
91394363852, 0007

Question Number : 64 Question Id : 91394316251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the Life table functions provided in List I to its explanation

given in List II.

List I List I1
(a)  pOx (i) Person-vears lived at age x
(by Ty (ii)  Number of persons living at the exact age x
(c) eg (iii) Probability of dying between age xtox+n
(d) I (iv) Expectancy of life at age ‘0’
Code:

Options:



(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394363855,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
912342638554,

(a)—(iii), (b)—(i), (e)—(iv), (d)—(ii)
91334563855,

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91334363556,

Question Number : 64 Question Id : 91394316251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 14 fqu e e Aol werdi =6t gl 114 41 7 3961 sgrem & 91y

gquferd hifu |
et 1 Tt 11
(a)  nax (i) &g x 9 fofu o =g
(b) T, (i) &g x W Sfigq Sfi 18 safdadi &1 e
() &0 (iil) 31 x ¥ x + n % " w7 A i
(d) I (iv)  #A1g 0" 9 e qeren
%<
Options:
(a)i), (b)), (e)—(iv), (d)—(0)
91394363853,
(a)—(i), (D)D), (e)—(iid), (d)—(iv)
21594263854,
(a)id), (b)~(D), ()—iv), (d)—ii)
91394363855
(a)(id), (b)—(D), (e)—iid), (d)—(iv)
91394363856,

Question Number : 65 Question Id : 91394316252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fertility theories are grouped in different categories except
Options:

Biological theories
91394263857,

91394353558, Socio-cultural theories



91394363859, Economic theories

91394353860, Dehavioural theories

Question Number : 65 Question Id : 91394316252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

st forgri ot fafim AR § aafesa o o & Ram

Options:

915324263857, e Rl
91394363858, | Rz
91394363859, i Rigia
91394363560, g figi

Question Number : 66 Question Id : 91394316253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Family planning acceptance in rural areas is lower than urban areas in
India.

Reason (R) : Large family size still persists in rural India.

In the context of these two statements, which one of the following is correct ?

Code:
Options:
(A) is true, but (R) is false.
91594363561,
(A) is false, but (R) is true.
91394363862,
Both (A) and (R) are true and (R) iz one explanation of (A).
91394263863,
Both (A) and (R) are true, but (R) is not an explanation of (A).
21394263564,

Question Number : 66 Question Id : 91394316253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



iy (A) : i & welt &t & gerast amftor gt # aftan Pt & wfterta w0
7% (R) : TTeftor W & o7 oft afam a3 81 € |
Iod St FuAl & e #, Frafufigs # @ sRwm adh 2 2

®e:
Options:

(A) T &, (R) Teid & |
91394363361, A

(A) Ted &, g (R) TR 2 |
91394363862,

(A) 3 (R) a9 (R), (A) i T sqmEn & |
91394363863, o = & R ¢

(A) 3 (R) 1 w1t €, T (R), (A) it = 7 § |
91394363864.

Question Number : 67 Question Id : 91394316254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Male migration rate as per the 2011 Census in India is
Options:

Below 20 percent
91394263865,

20 — 25 percent
91324563866,

25 — 30 percent
H1334563867.

Above 30 percent
91394363868,

Question Number : 67 Question Id : 91394316254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
2011 &t FHTVFET % FTER T H G55 oo LR
Options:

91334563565, 20 =

91394363566, 20 - 253K

91394363867 25 - 303K



2153394263865, 30 3

Question Number : 68 Question Id : 91394316255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following States of India in descending order (high to low) according to birth
rate as shown in the latest Sample Registration System Bulletin of September 2017.

(i) Bihar

(ii)  Uttar Pradesh
(i) Rajasthan

(iv) Madhya Pradesh

Choose the correct answer from the code given below :

Code :
Options:
(1, (1i), (iw), (iid)
913942635869,
(i), (iii), (iv), (i)
21394263870,
(i), (iwd, (1), (ii)
915394363571,
(1w}, (L), (i), (1i1)
91394363872,

Question Number : 68 Question Id : 91394316255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ferereart, 2017 % et wftrgt Sefiern saaeen geifes & gofs w8 5w g1 % sgEn wia & Frefafan
=gl it AatEl (s & ) o sgafem fifaw )

(i) fagm
(i) I W
(iil)  TreEgT

(iv) ®ET WewW

fr= fow o e A & wdlt I+ g
He:

Options:

(1), (11), (1v), (1)
91334563869,



(id), (iii), (iv), (1)
91334563870,

(i), (1v), (1), (1)
91334563871,

(iw), (1), (ii), (1ii)
H1334563872.

Question Number : 69 Question Id : 91394316256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the death rate of a stationary Life table population is 10 (per thousand), this implies a life
expectancy of about

Options:
65 years
91334363873,

50 vears
91324563874,

100 years
91394363575,

30 years
91394363576,

Question Number : 69 Question Id : 91394316256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afe ue foir Sitam groft saen it g0 7t 10 ® (3 gom), at Sftes weaman ghft, s

Options:

215942838735,

2153394263874,

91334563875,

B1334Z63876.

Question Number : 70 Question Id : 91394316257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Comparison of erude birth rate of two population groups can only be done by age
standardization of the birth rate because

Options:



e distribution of two ulation ups is not known.
Al1394263877. Ag pop groups

Different age distributions of two population groups becomes extraneous factor affecting the

comparison of birth rates.
A1 394263878,

91394363879, Both the above are correct statements.

91394363880, Both the above are incorrect statements.

Question Number : 70 Question Id : 91394316257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt SEET TEl % st 9 g e fad s U % wrashrr gro it S wehdt & it

Options:
FAEEET 1 a1y faam I

91394363877, i R 1 g T T e

91394363878, i wel 1 it 3y forron amer Rk o S & S o= U A geE g

IoY G o TE @ |

2153394263879,

I g YA Ted & |

B91234563880.

Question Number : 71 Question Id : 91394316258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following can be captured through the data on marginal workers in
Indian Census ?

(i) Non-availability of work throughout the year
(ii) Awailability of home-based work
(iii) Under-utilisation of the workforce

(iv) Flexibility in work condition

Choose the correct answer from the code given below :

Code:
Options:

(1) and (ii) are correct
Gl1294262881.



(i) and (iii) are correct
A1 394262882,

(i) and (iv) are correct
Q13942625583

(ii) and (iv) are correct
912394262584,

Question Number : 71 Question Id : 91394316258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

WA G S0 # HiHid Sl @ atid st & aregn @ Fefafaa 4 @ w0 wrea fen s a6
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(i) wr B g
(i) -t wrf f T
(i) shrd-wifer 61 % ITET
(iv) wrd aftfeufrat 4 sftems

3 fu o e A @ T I A g
He:

Options:

91294363551, @ R {u}HTafI'E

Q1Z94363R52. @ ok {m}'ﬂﬁ"lﬁ

915942625535, M R {W}Hﬁ%

A1:942363554. (i) 3R {W}Eﬁ%

Question Number : 72 Question Id : 91394316259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Myers’ Blended Index is used to assess which among the following ?
Options:
Mis-reporting of women with zero pari
91942363885, poring v

91394353386, Omission of information on dead children



Preference for terminal digits
91394363857,

Dissimilarity of two age distribution
91394263588,

Question Number : 72 Question Id : 91394316259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

arae <t fufara srpseafirenr 1 s Freafafiaa & & o sreem o0 % foe e s 2 2
Options:

T 4 wfgensdt it e featfén
91394363385.

= & Haq | IECIEE]
31394363386, R

Heq Al = fou alaan
91394363887,

g a1y faaaor % offer srma
91394363888

Question Number : 73 Question Id : 91394316260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The number of ‘million plus’ cities in India has gone up from 35 in 2001 to in
2011.

Options:

21594283889, 53

91394363890, 50

91394363891, 60

215394263892, 65

Question Number : 73 Question Id : 91394316260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Yrd ¥ ‘g8 o & Ao sHEEa 9t el i GEm 2001 A 35 @ W H 2011% @ d
g

Options:



B1334563859.

91334563830, 50
H1334563891. 60
91334563892, 65

Question Number : 74 Question Id : 91394316261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In 1947, C.P. Blaker attempted to identify how many stages of demographie transition ?

Options:

3
91594363593

4
91594363594,

5
91294363535,

6
91594262596,

Question Number : 74 Question Id : 91394316261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1947 4, ©t. 9, oot 3 FHifRFE GeRa & forae =or i vgeE S w0 wEE fm o 7

Options:

3
91394263593,

4
91394263594,

5
D1394263E3E,

6
21394263896,

Question Number : 75 Question Id : 91394316262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Transfer of labour force from subsistence sector to industrial sector results in capital
formation and economic development.” This proposition forms the core of



Options:

Lewis model of migration
21594283897,

Wilbur Zelinsky's model
91394363598,

Everett Lee's theory
91334363839,

Ravenstein's theory
91324563300,

Question Number : 75 Question Id : 91394316262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“yfter 7 % frafe 2= & aiteifire & A i siqwn & woeasy Gt 1 Fefo it snfdfe faem g
2 17 a8 ST AR |
Options:

91334563857, ot =

913345638598, ﬁ

wate &t w1 faga

9133456358399,

A = faga
91334363300,

Question Number : 76 Question Id : 91394316263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The United States of America had its first census in which among the following years ?

Options:

913345633901,

215394263902, 1790

B12334563303. 1801

913345633904, 1890

Question Number : 76 Question Id : 91394316263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

T U= iR i geelt s fefefas 9 @ fem ad 7 g5 o 2

Options:

21594263901, 1750

B123345633902. 1790

91334563303, 1801

H13345633904, 1890

Question Number : 77 Question Id : 91394316264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following scenario indicates negative growth rate of population in the
long run ?
Options:

Net Reproduction Rate =1
91394263305,

Net Reproduction Rate < 1
21394263206,

Net Reproduction Rate > 1
91394263307,

Net Reproduction Rate =0
91394363905,

Question Number : 77 Question Id : 91394316264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freferfiga & & o wigra $ufafy % dhom seden 6 sorers afg =t agqfaa w2
Options:
91394363005, T @ =1

FEasma <1
91394363906,

FEasmas1
91394363907,

Faa s =0
91394363908,



Question Number : 78 Question Id : 91394316265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Walter Christaller, trade areas of cities are

Options:
91394363909, Cireular
Hexagonal
91942363910
Octagonal
9194363911,
Rectangular
91394362912,

Question Number : 78 Question Id : 91394316265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

aTeet fF=Ter % aEN, TEl % 4TI &9 8
Options:

91394363909, TAreR
91394363910,

91394363911, 3

91294363912 o

Question Number : 79 Question Id : 91394316266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Depletion of natural resources affects the poor women the most.

Reason (R) : Poor rural women spend a lot of their time and energy in collecting fuel and
fodder.

In the context of these two statements, which one of the following is correct ?
Code:

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394263913,



Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15942832914

(A) is true, but (R) is false.
91394262915,

(A) is false, but (R) is true.
91334563916,

Question Number : 79 Question Id : 91394316266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

O (A) : Tl Gl % e A e qfgemd wad surer wifad &t § |

T (R) - rita areftor wfgerd o1 agd @1 w9 ¥ Sl 399 A S0 3E F H w2 |
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He:

Options:

(A) 3 (R) q9T (R), (A) i 98t =amean & |
91394363913, i wd & e &

(A) 3 (R) g1 @t &, T (R), (A) it 9t = 76 # |
91394363914

(A) Tt 7, (R)Ted 2 |
Q1=394=26=915. m

(A) T &, Wg (R) @&t 2 |
91394363916,

Question Number : 80 Question Id : 91394316267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In 2016, Millenium Development Goals (MDGs) were replaced by Sustainable Development
Goals (SDGs) including some new areas of concern. Which of the following is/are the newly
added goals in the list ?

(i) Climate action
(i) Sustainable cities and communities
(iii) Eradication of poverty and hunger

(iv) Gender equality and women empowerment

Choose the correct answer from the code given below :

Code :
Options:

Only (i)
91394363917.



Only (1) and (ii)

91394363918,

Only (ii) and (iii)
91394263919,

Only (i) and (iv)
21394263920,

Question Number : 80 Question Id : 91394316267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ad 2016 # fa=m % $o 7o &4 i wite w0 gu weered fawm awt (w9 f) i fewre fawma
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(i) fewhrs wee o wqg

(i) et aft @ IgEA
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% :

Options:

e (i)
A1394263917.

e (i) 3 (i)
91394363918,

Wae (ii) 3 (iii)
91394363919,

Fae (1) #H (iv)
91394363920,

Question Number : 81 Question Id : 91394316268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following ‘strategic themes’ were not included in the National Health Policy,
20007

Options:

Enhanced use of modern system of medicine
91394263921,

Decentralized planning and programme implementation
Q1394363922 P 8 P P



Meeting the unmet needs for family welfare services
91394363923,

Increased participation of men in planned parenthood
91394263924,

Question Number : 81 Question Id : 91394316268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frfafaa 4 & fra wrfifees oft’ =t wsdta wareen Hifa, 2000 # wfe 78 fFn o 2
Options:

anygfaes faferean wAfern Iag
913943263921, a1

farehedieha sttt afit wrdswa wraf-aga
91394363922,

aftam weam gt R sgfa st wt
91394363923, e

giiferd wrgfigea 3 gew 6 =t g8 wrerd

91334563924

Question Number : 82 Question Id : 91394316269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is used to caleulate approximate doubling time of a population ?

Options:

91394363925, / population growth rate (%)
91394363926, O / population growth rate (%)
91394363927, / population growth rate (%)
91394363928, / population growth rate (%)

Question Number : 82 Question Id : 91394316269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foreft e = QT B9 o gt T <t o e % fore Frefeftaa & @ foeaem i faran s
27

Options:



50 / sEeE 9fg @ (%)
91394363925,

60 / s 9fg 5t (%)
91394363926,

70 / SEE 95 (%)
91394363927

80 / s 9fg 51 (%)
91394363928,

Question Number : 83 Question Id : 91394316270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : A set of techniques are developed for indirect estimation of demographic
parameters.

Reason (R) : Unfortunately in many countries, quality of data collected from vital
registration system and census is very poor or incomplete.

In the context of these two statements, which one of the following is correct ?

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
1594363929,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1=5942832950,

(A) is true, but (R) is false.
Q13943263931

(A) is false, but (R) is true.
Q1=2943283952,

Question Number : 83 Question Id : 91394316270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST (A) : TR THGUS! % HFeaE Waher = o Fo wfafimi #1 fawm e mn 2
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% :

Options:

(A) # (R) 9T (R), (A) 1 #at =gmean & |
91394363929, = el &



(A) 3R (R) ST &t &, T (R), (A) At Tt sameen 2 & |
91394363930,

(A) T8 2, (R) Terd & |
91394363931 g

(A) T 8, Wg (R) @&t B |
Q1294263922

Question Number : 84 Question Id : 91394316271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is not correctly matched ?

Options:

First Population Policy of India : 1978
91394263933,

National Rural Health Mission (NEHM) : 2005
Q1394263934

National Family Health Survey-I (NFHS-I) : 1992 — 93
91394363935,

Reproductive and Child Health Programme (RCH) : 1997
91394263936,

Question Number : 84 Question Id : 91394316271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fr=ferfiga & @ . gifea 78 2 2
Options:
91394365955, YT it Teelt sHaea Hifd : 1978

et greftor Tareen fire (TR, TRLER. ) : 2005
91394353934, (1. . 03.8.)

ety afar ey gesv-] (TH.06.09.08-1) : 1992 — 93
91394353935,

S 3 s Tareed wrdshn (AL US) - 1997
91394353936,

Question Number : 85 Question Id : 91394316272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Among the following measures of fertility, which one is not a period measure of fertility ?

Options:



91394363937, Crude Birth Rate

General Fertility Rate
21594283958,

Total Fertility Rate
91394363939

91594363940, Number of children ever born

Question Number : 85 Question Id : 91394316272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gl o Frafefiaa ofmmd 4 @ s adam v ofom 78 2 2
Options:

FAfe &0
91394363937,

HHTT T+ 5T
91334563938,

EEEE A
B12334563929. ¥

HA1 % e Ha e w1 Wt 5= ==51 h G
91394363940,

Question Number : 86 Question Id : 91394316273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A modern census can be defined in terms of the following :
(i) Well-defined territory
(ii) Coverage of all people
(iii) Enumeration of socio-economic characteristics at individual level

(iv) Specified reference time period

Choose the correct answer from the code given below :

Code :
Options:

(1), (iii) and (iv)
913345635941,

(ii), (iii) and (iv)
91334563942,



(1), (ii), (iii) and (iv)
Q15942832943

(i), (ii) and (iii)
91334563944,

Question Number : 86 Question Id : 91394316273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
u gy s st Frefafa geut & sforf e snoawa 2
(i) gafoarfed &=
(i) Tt it w6t e s
(i) safeaTa Tt ot amTfss-anfi st & o
(iv) fafime g #e srafy

fr fou e F @ Tt I A g
F:
Options:
(), (iii) 1 (iv)
91394363941
(i), (i) 3 (iv)
91394363942,
(i), (iD), (i) 3 (iv)
91394363943,
(i), (i) 3 (iii)
91394263944,

Question Number : 87 Question Id : 91394316274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following schemes enhance household food security ?

(i)  Annapurna Scheme
(ii) Targeted Public Distribution System
(iii) National Rural Livelihood Mission

(ivi MGNREGA

Choose the correct answer from the code given below :

Code :

Options:



Only (i) and (ii)

91394363945,

Only (ii) and (iv)
91394363946,

Only (i) and (iii)
215394263947,

Only (1) and (iv)
91594363548,

Question Number : 87 Question Id : 91394316274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freaferfiaa 4 & = @t wteand wie @ gan +t agedt § 2
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(i) @ el faaoo et

(i) Tt grefior anritferent firem
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Hhe:

Options:

Ao (1) 3 (i)
91394365945,

Fae (i) 3 (iv)
91394363946,

e (1) 3 (i)
91394363947,

e (1) 3 (iv)
91394363948,

Question Number : 88 Question Id : 91394316275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following was the coverage period for ‘District Level Household Survey-4’
(DLHS-4) ?
Options:

91394363949, 201213



91394363950, 2010-11

91394363951 201112

91394363952, 2013-14

Question Number : 88 Question Id : 91394316275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Foren wafta Teeeft g4’ (dh.ua.uw.vg-4) & fou snfea (water) srafy Fefafea dawn 2 2

Options:

91394363949, 201213

91394363950, 2010-11

91394363951 2011-12

91394363952, 2015 - 14

Question Number : 89 Question Id : 91394316276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Disability adjusted life years (DALY) is a measure of which among the following ?
Options:

413943263953, Incidence of dizease

91394263954, Prevalence of disease

91394263955, Burden of disease

41394253956, None of the above

Question Number : 89 Question Id : 91394316276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



2153342639535, =

91334563954, W

91334563955, T 1 R

Iowd & & ¢

91334563956,

Question Number : 90 Question Id : 91394316277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following information is net included in ‘Health Management Information
System’ under NHM/NEHM ?

Options:

Family plannin
91394283957, y P 8

91394363955, | TMmunisation

Training to staff in health facilities
91394363959

91394263960, Human resources in health

Question Number : 90 Question Id : 91394316277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U U N, /O, AU, U, % e, T Yaue g gt d foefafas § @ b ge
afiret g 8 2

Options:

91334563957,

91334563958,

2153394263959, gﬁw&ﬁ A 1 S

B913345633960. i

Question Number : 91 Question Id : 91394316278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the countries listed below has the lowest infant mortality rate ?

Options:

Japan
91394363961

Norway
91394363962,
91394363963, | nand
91394363964, —veden

Question Number : 91 Question Id : 91394316278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frerferfian 2uif & & P fivg ey o0 Tl 1 2 2

Options:
915324363961, ST
91394363962, T
91394363963, Rete
91394363964, whe

Question Number : 92 Question Id : 91394316279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following combination arranges five most populous countries of the world
according to their population size ?

Options:

China, India, Indonesia, United States, Brazil
91942363965,

China, India, United States, Brazil, Indonesia
91294363966,

China, India, Indonesia, Brazil, United States
91594363967,

China, India, United States, Indonesia, Brazil
91394363965,



Question Number : 92 Question Id : 91394316279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafer da frmaam A seen A g agFm S gaa as Svii H Al Fm § T T B 7

Options:

1504563065, T T, TR, ST, S
91394363966, <, W, e, sl s
1304363067, T T, TSR, S, ST
91394363968, <, s, s, setfn, s

Question Number : 93 Question Id : 91394316280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements iz incorrect ?

Options:

A large part of Malthus essay was devoted to refute the arguments of Condorcet and
91394363969 Codvin

Mercantilists were expansionists.
21394263970,

Boserup believed that population growth stimulates economic growth.
91394362971, P pop gro gro

Malthus encouraged universal marriage.
91394363972,

Question Number : 93 Question Id : 91394316280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freafafiaa & @ s S99 Tem e ?

Options:

41594363569, areud % frey F1 0 we1 faem Fiee ok wiefim % a9 % GeT w0 % foe anfia o1 |

Hehreforee faeamardt 4

B91334363970.
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Question Number : 94 Question Id : 91394316281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following combination of indicators is provided by Health Management
Information System (HMIS) under the National Health Mission (NHM) ?

(i)  Input indicators
(i) Process indicators
(iii) Qutput indicators

(iv) Impact indicators

Choose the correct answer from the code given below :

Code :

Options:

Only (ii) is correct
9159242363973

Only (i) and (ii) are correct
91394362974

Only (i), (ii) and (iii) are correct
91294363975,

All (1), (ii), (iii) and (iv) are correct
91594363976,

Question Number : 94 Question Id : 91394316281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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o HH-HT THEEd A vqE R wm # 2

(i) IAEH GHEH

(i) iR dq=w

(i) Frfa wqEs

(iv) TS Gg=h

fr= fqw e # @ wdlt 3w A g
He:

Options:



Fa (i
91394363973, )T E

91334563974, 0 3 i) 7 &

Fae (1), (i) 3 (iii)
91394363975, &

(1), (ii), (i) 3 (iv) @Yt
91394363976, W &

Question Number : 95 Question Id : 91394316282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following countries has the highest proportion of the elderly population ?
Options:
91394363977, Japan

Germany
91334363978,

United Kingdom
913245363379,

91394363950, United States of America

Question Number : 95 Question Id : 91394316282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fFreferfiaa 2o & @ form St e 4, 9g @i 6 den w1 waffus wag & 2

Options:

21594263977,

B1334Z63975.

s fivga

91334563979,

T ST
91394363930,

Question Number : 96 Question Id : 91394316283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the latest sample Registration System Bulletin of September 2017, how many
small States are there in India ?

Options:

91334563951,

2153394263982,

B1334563953.

91334563954, 10

Question Number : 96 Question Id : 91394316283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
feraear, 2017 % Feftran wfogel dsftern sqawen gafen & san, ya d e s Tsw 8 2

Options:

2915394263981,

B1334563982.

91334563953,

215942639854, 10

Question Number : 97 Question Id : 91394316284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sample Registration System (SES) in India was introduced to acquire reliable data on
Options:
Birth
91394363985 s

91394383986, DCaths

91394363957 Births and deaths

Births, deaths and marriages
91294353985,

Question Number : 97 Question Id : 91394316284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Freafafiga # @ frass g # favawdia s e & fou e & wfesl Softeror saaean (v.am.
wH.) F 3T B g oft 7

Options:

H1334563955.

215942639856,

91334563957,

w4, gog 3 famme
91394363938

Question Number : 98 Question Id : 91394316285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the National Family Health Survey 2015 — 16 (NFHS-4) total unmet
percentage need for family planning among currently married women age 15 — 49 years in
India is around

Options:

B1334563989.

913345639390, 1

913345639391, 13

B13345639392, 15

Question Number : 98 Question Id : 91394316285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

wedta afEm e gdavn, 2015 — 16 (VH.0%.U9.0H.-4) % AR, WAd § ad96 | 15 — 49 7Y
it <t ferafea wfienait % sfte ofar Pt & $o srafia smavashar & G showm 2

Options:

B1334563989.

913345639390, 1

913345639391, 13



B1334563992. 15

Question Number : 99 Question Id : 91394316286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a country with a high life expectancy, the fact that the actual death rate is lower than
the death rate of the stationary population means that

(i) the actual population is growing through natural increase.

(ii) the country has a younger actual population than the stationary population.

Choose the correct answer from the code given below :

Code :

Options:

Only (i) is true
Q15942839593

Only (ii) is true
Q12942632994

Neither (i) nor (ii) is true
A1394263995.

Both (i) and (ii) are true
Q15942632996

Question Number : 99 Question Id : 91394316286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I e wearen @t S0 A, e R arafes g e swem S g d e g, wamma t
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Options:

Fa (i
91394363993, e

Fa (i
91394363994, ) E

T (i AT (i
91394363995, D w & a ()



91394363996, 3t i) < w1 &

Question Number : 100 Question Id : 91394316287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Indian Census, residents of which among the following are not considered as
houszeless households ?

Options:

Railway Platforms
215394263997,

Beggar Homes
91394363998,

Footpath
91334363939,

Under Fly-overs and Bridges
91324364000,

Question Number : 100 Question Id : 91394316287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W ST & sigan, Freafafas & @ e Farfaet ot aw safe 387 o s g 2
Options:

B1334563997. e

fir
91394363998, ok

91334563999,

Fafiget ot gel &% H= @ T
91394384000, et s gel b

Question Number : 101 Question Id : 91394316288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following States has the highest ‘Contraceptive Prevalence Rate’ of
modern methods of family planning in NFHS-4 ?

Options:

Punjab
91334364001,



91394364002, ‘‘ndhra Pradesh

91394364003, ramil Nadu

91394364004, Maharashtra

Question Number : 101 Question Id : 91394316288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U0, 09,08 -4 ¥ ufan Fratee i snygfres fafir & Frafafiga 3 2 fea osg & ssan mf fius
PECE RO

Options:

21594264001,

Y 5T

B1334564007Z,

91334564003,

91334564004,

Question Number : 102 Question Id : 91394316289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the important milestones/events in Global (G) or India’s (I) Population Programmes
shown in List I with their dates in List II.

List I List IT
(a) International Conference on Population (i) 1994
Development (G) (ICPD)
(b) Re-naming Family Planning to Family (i) 1977

Welfare (1)
(c) National Population Policy (I) (iii) 2000
(d) Child Marriage Restraint Act (I) (iv) 1978

(e) Sustainable Development Goals (G) (SDGs) (v) 2016

Code :
Options:

(a)i), (b)—liv), (e)(iii), (d)—(ii), (e)—w)
H1334564005,

(a)—(i), (b)—{ii), (e)—(iii), (d)~iv), (e)—(w)
91334264006,



(a)—(i), (b)—(iv), (e)(iii), (d)—(v), (e)—(ii)
91394364007,

(a)(iv), (b)(id), (e)(iii), (d)(D), (e)-v)
91234264008,

Question Number : 102 Question 1d : 91394316289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 18 afFs () o1 vrdta (a1md) e Ffmn i wewag sfwenad w g 11 37 fafi
# firem $ifsr |
A1 Hel I

(a) IS FiHd A4 TGAIH SFevEe () () 1994
(g #f .. 2h)

(by ufEr Fatsw %1 9 9ga o 9@ Fedmr (i) 1977
F1 (FE)

(e) Tedtg wAgE Hifg (am) (iii) 2000
(d) e foars ity fades (amd) (iv) 1978
(e) fowrs fasm e () (ww.dtsh.) (v) 2016

®e:
Options:

(a)(i), (b)—(iv), (e)(iii), (d)—(ii), (e)-v)
91394364005,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv), (e)—(v)
9123943640086,

(a)(i), (b)—(iv), (e)(iii), (d)—(v), (e)-(ii)
91394364007,

(a)iv), (b)(id), (e)(iii), (d)-(D), (e)-v)
91234264008,

Question Number : 103 Question Id : 91394316290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is not correct regarding ‘POSHAN Abhiyan’ initiated by the
Government of India ?

Options:

It will reduce stunting in children 0 — 6 years of age from 38-4% to 25% by 2022.
913942640039,

It aims to ensure holistic development and adequate nutrition for pregnant women, mothers

91394364010, 20d children.



It ensures convergence of various nutrition related schemes.
91394364011,

91394364012, It will be subsumed in the ICDS nutrition services.

Question Number : 103 Question Id : 91394316290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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91394364009
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Question Number : 104 Question Id : 91394316291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following religious communities is not categorised separately in Indian
census ?

Options:
Jain
91394364013,

91394364014, Duddhist

91394364015, Dabal

B91334564016. Sikh

Question Number : 104 Question Id : 91394316291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa 4 & fba afifs augr 6t wreta smoen 4 sem @ Softea a2 femmn 8 2

Options:

2153342640135, +



L

H91334564014.

s

912334564015,

H133456401E,

Question Number : 105 Question Id : 91394316292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Among the indicators given below, which one is commonly not used as economic indicator at
micro level ?

(i) Contribution of non-agricultural sector to GDP
(ii) Total food production
(iii) Enrolment ratio of girls in schools

(iv) Rate of inflation

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
91=94264017.

(i), (ii) and (iii)
91294254018,

(ii), (iii) and (iv)
91zZ942840149.

(1), (i) and (iv)
91294354020,

Question Number : 105 Question 1d : 91394316292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91234564017,

91334564015,

91334364019,

215394264020,

(i) 3 (i)

(1), (ii) 3 (iii)

(i), (i) 3T (iv)

(1), (i) 3 (iv)

Question Number : 106 Question Id : 91394316293 Question Type: MCQ Option Shuffling : Yes Display Question Number

Single Line Question

Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Some of the States with adverse child sex ratio in the past, witnessed
improvements in sex ratio at birth recently.

Reason (R) : Such States have effectively implemented ‘Beti-Bachao and Beti-Padhao’

programme.

In the context of these two statements, which one of the following is correct ?

Code :

Options:

91334564021,

215394264022,

91334564023,

91334564024,

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is falzse, but (R) is true.

:Yes



Question Number : 106 Question Id : 91394316293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar & |
91394364021 o e & = b

(A) 3itt (R) 3T wdt &, 9t (R), (A) it wet samea 78 & |
91394364022,

(A) T 2, 7 (R) Teid 2 |
91394364023

(A) TeTd B, 9 (R) T8 2
91394364024,

Question Number : 107 Question Id : 91394316294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
India has set population stabilization goal. This means

Options:
Zero population growth rate
2153942364025, pop gro
Achievement of contraceptive prevalence rate (CPR) of 65%
215394264026,
Achievement of fourth stage of demographic transition — low levels of birth and death rates
91394364027,
Average family size of 2-1 children
91394364028,

Question Number : 107 Question 1d : 91394316294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T 3 e el weg Fraffa G @ | g onf 2
Options:

waE 9fg 5
91394364025, b kL
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Question Number : 108 Question Id : 91394316295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following will provide, from a Life table, the additional years a person is
expected to live after age 60 ?

Options:

&0
91294364029, 60

B91334564030. len

91334564031, TEU

913943640322 460

Question Number : 108 Question Id : 91394316295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oftaw mroft &, Frefafaa & @ fraes gro 39 sifefem oot o1 9o o o ghan & oo ael @ fedt
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Options:

e®
91394364029 a0
91334564030, fﬁﬂ

H91334564031. Tep

91394364032, 960

Question Number : 109 Question Id : 91394316296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following is not a Sustainable Development Goal ?

Options:



Good health and well being

Q1594284033
Gender equali
Q1594264054 e o
Zero hunger
Q1294264035
91354364038, Creation of wealth

Question Number : 109 Question 1d : 91394316296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91394364033, o0 T R AE FeAm
91394364034, O Fl
91394364035, & To

91304364036, | o

Question Number : 110 Question Id : 91394316297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following set of population projection tables are generally given by Technical
Group who makes population projections for India ?

Options:
91394364037, |ndiaalone
91394364035, India and States alone

India, States and Union Territories alone
913943264039

India, States, Union Territories and Districts
91294354040,

Question Number : 110 Question 1d : 91394316297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

12334564037,

91334564035, R T

e W, =9 3 699 &7
91394364039,

91394364040,

Question Number : 111 Question Id : 91394316298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Perceived employment opportunities and income levels’ form the basis of migration
theory/model proposed by

Options:

91394364041, Samuel A. Stouffer

John Q. Stewart
91394264042,

91394364043, Michael Todaro

91394364044, T erette Lee

Question Number : 111 Question Id : 91394316298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

qATE U, WIHt
91394364041

Wi 7, wad
91394364042,

qT3hel Erent
91394364043,



91334564044,

Question Number : 112 Question Id : 91394316299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following indicators is used to measure change in fertility in India ?

Options:

91394364045, Crude Birth Rate

Total Marital Fertility Rate
91334564045,

Total Fertility Rate
91334364047,

91304354048, Child — Woman Ratio

Question Number : 112 Question Id : 91394316299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

FAfeg w.
91394364045,

Fel daTiesh o T
91394364048,

EEEE RS
91334564047, ¥

et — wfger ST
91394364048,

Question Number : 113 Question Id : 91394316300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Louis I. Dublin and Alfred J. Lotka published a treatise on the stable population model in
which of the following years ?

Options:

215394264049, 1920



2912334564050, 1925

91334564051, 1930

H1334564052, 1940

Question Number : 113 Question Id : 91394316300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5T e, gafed 3t s7ehe 3, dieh A fon e wiea gavft way Frafafaa & @ frg ad & v
farer fopam 2

Options:

91334364049, 1920

B91334564050, 1925

912334564051, 1930

9133456405%2, 1940

Question Number : 114 Question Id : 91394316301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match names of the scholars known for their contribution made in the area of theories of
population given in List I with their contribution given in List II.

List I List 1T
(a) Boserup (i) The Conditions of Agricultural

Growth : The Economics of Agrarian Change
under Population Pressure

(b) Julian Simon (ii) The Ultimate Resource
(c) Ansley Coale and Edgar (iii) Population Growth and Economic Development in
Hoover Low-income Countries
(d) Michael Thomas (iv) Law of Population
Code:
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234264053,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394364054,



(a)—iil), (b)~(iv), (e)~(i), (d)—(ii)
91394364055,

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394564056,

Question Number : 114 Question 1d : 91394316301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

et 1% sden fagia % & 3 gm0 aret fagret % am o gt 10 F 399 g fee e Fereet
# farem Fifa |

1 LSl
(a) =EEq (i) i fasrm i srgead : sEET EE * T8d FY gad
agaral i sreferarn

(b) Sfera= g (i) aiferm gaTaA
(c) THA Hid 3 S FE  (idi) 3T A 91 UGl F Fwen g 3 nfd fawma
(d) wTgha UiaE (iv) “FEEar % faga

% :
Options:
(a)—(1), (b)—(ii), (e)—(iii), (d)~(iv)
91394264053,

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
91234264054,

(a)-iii), (b)~(iv), (e)-(i), (d)—(ii)
91394364055,

(a)—(iv), (b)), (e)—(ii), (d)—(iii)
91394364056,

Question Number : 115 Question Id : 91394316302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rank the following Indian States in descending order (high to low) according to the ‘India
State Hunger Index, 2008’

(1) Punjab

(i)  Kerala

(iii) Haryana
(iv)  Tamil Nadu

Choose the correct answer from the code given below :

Code :

Options:



Punjab, Tamil Nadu, Haryana, Kerala
Q1594284057

Punjab, Haryana, Kerala, Tamil Nadu
Q15294264058

Punjab, Haryana, Tamil Nadu, Kerala
9123942364059,

Punjab, Kerala, Haryana, Tamil Nadu
91294364060,

Question Number : 115 Question Id : 91394316302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘sfemn 22 ¥ 29w, 2008’ % sgan Frafafas wrdty et 6t st w0 (3= @ Fe) o sgafom
Hhifa |
(i) e
(i) e

(iii) femom
(iv) fie g

Hre fou o e # | @t I w g
% :

Options:

gaire, dfe g, gfemm, e
91394364057,

gaira, g, %, afe g
91394364058,

gaira, gfemn, afte g, e
91394364059

g, e, gftamn, wie g
91394364060.

Question Number : 116 Question Id : 91394316303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following indices will be the most sensitive index to measure change in the
female age at marriage ?

Options:

Mean age of females at marriage
Q13943264061 a8



Median age of females at marriage
9139432640682, a8 a8

Proportion of females marrying before age of 18 years.
Q1394264063 po 8 ag y

Mean age at marriage of females marrying in the age group 15 24 years.
91394364064, o8 28 arrying age group y

Question Number : 116 Question Id : 91394316303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frama % ww whken €1 a1y # fad ¥ v ¥ fae Prafifes daael § @ Fo does g
sG] g 8 7

Options:

wfgenadt 3 faare 6t wrex oy
91394364061

ufeenait o faame i mfeas g
91394364062

91394364063, 18 7 i 3y A vt fornfe &1 et wfeensdt F1 s

~uUTE i areh afensit
91394364064, 3y we # farafea &M arelt wfeeniad i wrea 3y

Question Number : 117 Question Id : 91394316304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one among the following is created through forced migration across the border ?

Options:

International Migration
91394264085,

lum Seekers
Q1394264066 Asy

Refugees
91394264067,

Internal Displacement
91394364065,

Question Number : 117 Question 1d : 91394316304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafaa 4 @ s dmarfs se@ weom & arem 8 gitm fen smar 8 2

Options:



A T

91334564065,

12334564066,

B1334564067.

91234564065,

Question Number : 118 Question Id : 91394316305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the latest Sample Registration Bulletin of September 2017, the death rate of
India per thousand population is

Options:

o
=

91334564063,

91394384070, °

91394364071,

91394384072, o

Question Number : 118 Question Id : 91394316305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ferara, 2017 % Fftraw wfagyl it saawe getfer & Fam wid 6t 9o @ wfd g9 sEE W
?

Options:

91394364069, O F
91394384070, O
91394364071, |
91394364072, o4

Question Number : 119 Question Id : 91394316306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is effectively captured through the definition of worker adopted
in Indian census ?

Options:

Women worldng for or profit
Q1394264073 g payoerp

Women supervising agricultural work
G129426407 4, pe g

Women travelling for work
91394264075,

Women working as casual labourers
291394264076,

Question Number : 119 Question Id : 91394316306 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

YA STET § 31918 718 SETr h afome & grean & feaffiaa © @ fegent et ol @
frefia frm mn & 2

Options:

215394264073, SeFT 31 T ¥ R e el

F i 1 wfae e aret Afgerd
91394364074

91334564075, whd S G

B133456407E6, A T e w

Question Number : 120 Question Id : 91394316307 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : India is currently experiencing ‘Youth bulge’ in age-structure.

Reason (R) : India has witnessed a significant decline in fertility levels during the recent
past.

In the context of these two statements, which one of the following is correct ?
Code:

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
215394264077,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594364078,

Yes

:Yes



(A) is true, but (R) is false.
Q1594284079

(A) is false, but (R) is true.
Q1294264050

Question Number : 120 Question Id : 91394316307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HAFYT (A) : AT T TG | SEen f oy s gy e fr @i d g
7% (R) : frshe arfta § v # wormm wat d St et s R |
o 3wl % wed #, Prfeflaa & @ SRmad 20

He:
Options:

(A) # (R) 9T (R), (A) 1 #at =gmean & |
9139436407 7. 7 @ AL b

(A) 3R (R) 3t @t €, T (R), (A) 1 Gt =t 7 2 |
91394364078,

(A) T& &, T (R) Terd & |
91394364079,

(A) Ted B, T (R) TR R |
91294364050,

Question Number : 121 Question Id : 91394316308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following does net represent Neo-Malthusian viewpoint ?

Options:
Women may like to escape the pangs of birth.
21594264051, Y pe pang
Marriage, child bearing and rearing may be looked upon as serious hindrance to their
aspirations and personal freedom.
215942640852,
Educated and employed women, especially those in white-collar jobs have a point when
they say that conception and birth to babies bring some physical deformation and make
91394364083, them unattractive.
Because of women exclusion from power and from access to safe reproductive technology,
many women have more children than they otherwise wish.
91394364054,

Question Number : 121 Question Id : 91394316308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Freafafiga # & * F5-weawang gfeesn & sfafifies a8+ 2

Options:

91334564051,

91334564052,

B912334564053.

B1334564054,

wfgemd woa die & a=1 =rEdt 8 |

ferarms, ==t W51 S afR 31 TTEA-gtor A W IR et 3R safedTd TadEar it ug & |
% ¥ H @ A Gl & |

ffira afk vt wfeemd, @@ = 3= Fife i F6t # Fm F= Treh, 79 98 Fadt § 5 i
i 7= U1 = | 3 wlifess atredr e e B, ot 3R 9ra d g g

g it gefera s sirenfifenat @ afensdi % g 8R % S, o wfeand st gee & afees o=
H T ol R |

Question Number : 122 Question Id : 91394316309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is Life table survival ratio from age 15 to

age 607

(Ig, Ly, Ty and gy are life table functions)

Options:

91334564055,

B91334564056.

Len
Lys

len
hs

Ten

91394364087, 15

len.

91394364088, 915

Question Number : 122 Question Id : 91394316309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
154 60 a4 %1 sy de, Ffafad 4 § w1 s |rofl Faesiiad s
2 7 (I, Ly, T, 3R qq Sfiaq drofi e 2)

Options:

Len

4913943564085, Lis



91334564056, 315

91394364087, 115

lgn
91394364088, 915

Question Number : 123 Question 1d : 91394316310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following concepts as given in List I with their description in List I1.
List 1 List I
(a) Carrying capacity (i) Size of population that produces the best results
according to chosen end targets

(b) Physiological density (ii) Number of individuals of a species an environment
can support

(c) Rural depopulation (iii) Number of persons per unit of arable land
(d) Optimum population (iv) Decline in size of rural population in the wake of
out-migration

Code :
Options:

(a)—(i), (b)—(iii), (e)(ii), (d)—iv)
B1334564083,

(a)—(i), (b)—(ii), (e)—(iv), (d)—(iii)
91334264030,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
913943640931,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394364092,

Question Number : 123 Question Id ;: 91394316310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1% €t 7 srmamonst & gt 117 oy mu 39k faawi @ faem if

LSl ESiplt
(a) 987 0 6 GHaT () FHEHEI 1 98 AHR A TG qEhi & 7Y wated
s 2a &

(b) IHRGRATHS TFca (i) T Wl o ToEdl ot e fad afEs 9w o Jedr 8
(¢) wsfior SEE B4 (iii) FHEr qf it wfa g w sl & gen
(d) To009 FEEAT  (iv) TE9H o 0T TTHIO SHEEET & AT § HHl

He:
Options:

(a)—(i), (b)—(iii), (e)—(ii), (d)—iv)
91394364089.

(a)—(D), (b)—(ii), (e)-(iv), (d)iii)
91394364030

(a)—(ii), (b)), (e)iv), (d)—(i)
91594264031,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394364092,

Question Number : 124 Question Id : 91394316311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The term ‘depopulation’ refers to
Options:

91394354003, Teduction in natural increase in an area

A decline in in-migration to a place
QA1 394264094 p

Rural-urban migration in an area
91394264095,

An absolute decline in population size of an area
91334264036,

Question Number : 124 Question Id : 91394316311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SEET-EE U w3 8

Options:

Fort gerres ) g gtz 3

B123345640393.



91394364094, T H s

913943564095, Rt g T S

fereft getres it StEE st | quf w5t
91394364096,

Question Number : 125 Question Id : 91394316312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following statements depicts the function of ‘Greenhouse gases’ ?

Options:

They trap heat and do not radiate.
91394264097,

They trap heat and re-radiate upwards.
291394264098,

They trap heat and re-radiate downwards.
91394264093,

They do not trap heat.
91394364100

Question Number : 125 Question Id : 91394316312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafiaa & @ -9 wu= iverea et &« = gafar & 2

Options:

91394364097, 9 1 GOt T AR oAt @ i g Tl 76 =t ®

A FH1 i UL T ek o1 & 3 S it o f & fafefm et 2
91394364095,

d AT ! aedt T At 8 o R i o fe | fafefa wmadt @
91394364099,

2915334264100, A o 1 el A A #

Question Number : 126 Question Id : 91394316313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following measures the tempo of urbanisation ?

Options:



Percentage of urban ulation
91394264101, tag pop

Ratio of urban ulation size to rural ulation size
Q13943264102 pop pop

Rate of change in urbanisation
2153942641035,

Ratio of urbanisation of a State to the urbanisation of the country
91334264104,

Question Number : 126 Question Id : 91394316313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafga & @ s andiso it nfa a2 2

Options:

gt SEET * gfaeh
91394364101

Telt FEET TR A YT TG HATHR F HI
91394364102,

Tt ® ftad i 2
91394364103,

fereft = o rfieReor 3R 3T Sw S Tl w5 S
91394364104,

Question Number : 127 Question Id : 91394316314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following components of population change need to be projected to use
“Components Method of Population Projection” for projecting Uttar Pradesh’s population to
the year 2021 7

Options:

Fertility onl
91394264105, w v

Mortality only
215394264106,

Fertility and mortality onl
Q1294264107 v v v

Fertility, mortality and migration
Q1=594284108. W t

Question Number : 127 Question 1d : 91394316314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

T 2021 § IR WG h FHEEA % @A & fore e vargv i vew fafe” % w3
s fad & Frafafian 4 @ fra ges &t aifia w0 & smavsa £ 2

Options:

91334564105,

Hae gegdl
91394364106,

Fae Feee 3 geran
91394364107

S terat, gedn it Were
91394364108

Question Number : 128 Question 1d : 91394316315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the internationally celebrated days shown in List I with their dates shown in List I1.
List 1 List I1
(a) World Population Day (i) April 11
(b) International Women’s Day  (ii) June 21
() National Safe Mother's Day  (iii) March 8
(d) International Yoga Day (iv) July 11
(e) World Health Day (v) April 7

Code :
Options:

(a)iv), (b)—(iii), (e)-1), (d)(ii), (e)v)
91234264109,

(a)—(ii), (b)—(iii), (e)—(v), (d)—(i), (e)iv)
91294264110,

(a)—(iv), (b)—(i), (e)—(iii), (d)—(ii), (e)—(w)
91324264111,

(a)—(iv), (b)—(il), (e)~(1), (d)—(iii), (el—v)
91334264112,

Question Number : 128 Question Id : 91394316315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1% fadsdia 9 & w9 o a1 feadt 0 gt 1R 33t ffert & e $ifs
Tl T I

(a) fova sden fGam i 11 30

(b) e afeen fGmm (i) 2150

(c) Teffa gefera wrg femm (i) 8 W

(d)y Faeisdta @ feam (iv) 11 9§
(e) Tava wareen foam (v) 7 ade

He:
Options:

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii), (e)—(v)
91334264109,

(a)—(ii), (b)iid), (e)~(v), (d)-(i), (e)-(iv)
91394364110.

(a)iv), (b)), (e)(iii), (d)(ii), (e)-v)
91594264111,

(a)—(iv), (b)(id), (e)~(1), (d)—(iid), (e)—(v)
913324264112,

Question Number : 129 Question Id : 91394316316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following events as given in List I with the years of their implementation in
List I1.

List I List IT
(a) NFHS-4 (i) 2015-16
(b) SDGs (it} 2000
(¢) Family Planning Programme in India (iii) 2016
(d) Second Population Policy of India (iv) 1952
Code:
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394364113,

(a)—{i), (b)—(iii), (e)—{iv), (d)—(ii)
91394364114,

(a)—(ii), (b)—(1), (e)-iid), (d)—iv)
91234264115,

(a)(iii), (b)(ii), (e)-(i), (d)iv)
91394364116,



Question Number : 129 Question Id : 91394316316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 16t Frafafaa gemedt & g=t 119 37 arp R % 9 @ firem fif

eI Lip i
(a) TH.UE.US.UH.-4 (i) 2015-16
(b) uH.EtH S, (i) 2000

() Wa A ofEm e wefwa (i) 2016
(dy a6 fgefa ssmem fifs (iv) 1952

C T

Options:

{a)—1), (h)—(ii), (e)-{iii), (d)—(iv)
915943641135,

(a)—(i), (b)—(iii), (e)—(iv), (d)—(ii)
91-94364114,

(a)—(ii), (b)—(1), (e)(iii), (d)—(iv)
91394=364115.

(a)—(iii), (b)—(ii), (e)—(1), (d)—(iv)
91-94364116.

Question Number : 130 Question Id : 91394316317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to A_R. Omran’s epidemiological transition theory ‘Age of degenerative and
man-made diseases’ form which number of transition ?

Options:
91394384117, 1 st Transition

91394364118, Second Transition

91394364119, 1pird Transition

91394364100, rourth Transition

Question Number : 130 Question Id : 91394316317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

v AR, e i efifsfiietra gifaem e % sgen ‘smarenrdt o aee-afa o & g’ fem
SFH 1 HFAT 8 7

Options:



2915394264117, T

fgdta sk

215394264118

qdTE HhA

91334564115

= gehaor

91384564120

Question Number : 131 Question Id : 91394316318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Open birth intervals are likely to be

Options:

Longer than closed birth intervals
91324564121,

91394384100 —norter than closed birth intervals

About the same length as closed birth intervals
91324564123,

Uncertain depending upon socio-cultural values
91394364124,

Question Number : 131 Question Id : 91394316318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g 90 e & Frefafiga & @ w0 e 6 aweT g 2
Options:

FH AU | w2
91394364121, %8 A

FH AU § Bl
91394364122, h &

HH AU o ATH T
91394364123, hC &

HraTfSTh-HTehio® & aman w wfafre
91394364124, o ™

Question Number : 132 Question Id : 91394316319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following Ministry/Department/Institution takes lead in making population
projection for India ?
Options:

Ministry of Health and Family Welfare
91394264125,

Office of Census Commissioner and Registrar General's Office
215394264126,

International Institute of Population Sciences
91334264127,

Planning Commission/NITI Aayog
91394264128,

Question Number : 132 Question 1d : 91394316319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

WG 1 SEEa e w5 | Frafafies 4 @ fen werem/fawm/deams 6 v e &6 2 2
Options:
Tareed Ud qiEn Hedm Hare
91394364125

ST EE IR HETISitas w wrEted
91394364126,

T SR 36 WqeTH A

2153394264127,

91334564125, e A

Question Number : 133 Question Id : 91394316320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : India reports crude death rate that is even lower than that in many
developed countries.

Reason (R) : India has witnessed significant decline in death rates during the last century.
In the context of these two statements, which one of the following is correct ?

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91334264123,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594284120



(A) is true, but (R) is false.
Q91594284121

(A) is false, but (R) is true.
Q1594264152

Question Number : 133 Question 1d : 91394316320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(A) # (R) 9T (R), (A) 1 #at =gmean & |
91394364129, 7 @ AL b
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91394364130,

(A) T8 2, (R) Tefd & |
91394364131, A

(A) e 2, (RyTE 21
91394364132, g

Question Number : 134 Question Id : 91394316321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following disease burden can be reduced by reducing the level of air
pollution ?

Options:

91394364133 Malaria

Dengue
91394264134, &Y

Respiratory disease
91394264135,

91394364136, Cpolera

Question Number : 134 Question Id : 91394316321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334564133,

91334564134,

91334564135, T

&

91334564136,

Question Number : 135 Question 1d : 91394316322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following was the thrust of the ‘cafeteria approach’ adopted by the
Government of India for family planning purpose ?
Options:

Provided choices in contraceptives
21594264157,

Emphasis on traditional methods of birth control
91394364138,

Emphasis on spacing methods
91394264139,

Emphasis on terminal methods
291394264140,

Question Number : 135 Question Id ;: 91394316322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

n¥fatiaeRt * fawey =em w5
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Question Number : 136 Question Id : 91394316323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following has propounded the ‘Dual Labour Market Theory’ in the context
of international migration 7

Options:

91394384141, SATK
Sassen

91394364147,

91394384143, | allerstein

91394364144, 10TC

Question Number : 136 Question 1d : 91394316323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91394364141, S
31334364142, wH
91324364143, S
915324364144 Fir

Question Number : 137 Question Id : 91394316324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following combinations is correct as sources of information on age at
marriage 7

Options:

Census, SRS and Demographic Surveys
91394364145

Census and Demographic Surveys
215394264146,

Census, Demographic Surveys and Service Statistics
91334564147,



Census, SRS, Demographic Surveys and Service Statistics
91394364145

Question Number : 137 Question Id : 91394316324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

FATOMET, TH. AT TE, 31 TR Has
91394364145,
91394364146, M 3R ST T

FATUET, TR T . dan gifeadt
91394364147,

ST, UH,HATLTH, , FHIehg dag A da aifegh
91394364148,

Question Number : 138 Question 1d : 91394316325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : Maternal deaths in India have drastically come down after implementation
of Janani Suraksha Yojana (JSY).

Reason (R) : There is substantial increase in institutional delivery during implementation of
JSY.

In the context of these two statements, which one of the following is correct ?

Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
91294364149,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
9123942364150,
(A) is true, but (R) is false.
912394364151,
(A) is falze, but (R) is true.
913943654152,

Question Number : 138 Question Id : 91394316325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(A) T 8, WG (R) &8t 2 |
91394364152,

Question Number : 139 Question Id : 91394316326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which shape of Age-Specific death rate curve generally matches with the mortality
situation of developed countries ?

Options:

“J" sha
Q1594284153 ped

Inverted *J sha
Q13943264154 ped

17" sha
Q1394264155 ped

Inverted ‘U sha
91394264156, ped

Question Number : 139 Question Id : 91394316326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

gk

91334564153,

Fedl I AR

912334564154,



U

91334564155,

It U sl

91334564156,

Question Number : 140 Question Id : 91394316327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is/are true about the ‘target free approach’ adopted for family
planning programme by the Government of India ?

(i) It has adopted a top down approach
(ii) It has adopted a community need based approach

(iii) Collection of detailed population data

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii) are true
291394264157,

Only (ii) and (iii) are true
915943641586,

Only (i) and (iii) are true
91394264159,

Only (ii) is true
91394264160,

Question Number : 140 Question Id : 91394316327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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H91334564155. (i) 3 (i) T &

912334564159, (0 3 i) e &

Fa (i
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Question Number : 141 Question Id ;: 91394316328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is the lowest population size category of the villages identified
by the Census of India 2011 7

Options:

91394364161, -0
91394364162, < 100
91394364163, <200
915394364164, 200

Question Number : 141 Question Id : 91394316328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pr=ferfiga 4 & - wra it s, 2011 g st Tt B e sEEEn s A @ 2

Options:

91394364161, 00
91394384162, - 100
915394384163, <00
91394364184, < 200

Question Number : 142 Question Id : 91394316329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If rate of population growth per annum is 2-0 percent (r = 2%), then approximately how
many years will it take to double the population size ?

Options:



912334564165,

91334564166, 12
91334564167, 18
H91334564165. 14

Question Number : 142 Question Id : 91394316329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394564165, 35
913945364166, 12
91394364167, 18
91394364168, 14

Question Number : 143 Question Id : 91394316330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is netf correct about PCPNDT Act in the country ?

Options:

PCPNDT Act prescribes 3 years jail for advertisement relating to pre-natal determination of
91394364169,

The Act preseribes for punishment to couples opting for pre-natal determination of sex.
91394364170,

The Supreme Court banned pre-natal sex determination advertisements in search engines.
91394364171,

National Inspection and Monitoring Committee (NIMC) is constituted to identify illegal

advertizement for promotion of pre-natal determination of sex.
91394364172,

Question Number : 143 Question Id : 91394316330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394364169
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91394364170,
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91394364172,

Question Number : 144 Question Id : 91394316331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following set of data is required to compute exact “Net Reproduction
Rate™ 7
Options:

ASFR, sex ratio at birth and survival ratios of female babies from birth to each reproductive

e.
91334564173, 8

GRR, sex ratio at birth and survival ratios of female babies from birth to each reproductive

e.
91334564174, 8

GER and survival ratios of female babies from hirth to age 15 — 49 years.
91394264175,

ASFR, sex ratio at birth and survival ratios of female babies from birth to age 15 — 49 years.
215394264176,

Question Number : 144 Question Id : 91394316331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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St 33, 30 S & S 16 — 49 99 R 3y T aifersn B i sy s

91394364175,
U.UH, UL A, T % Ted for e offt 9w @ ot 15 — 49 99 ot a1y ah anfer frgedt
FerAtfear T
91394364176,
Sub-Section Number: 3
Sub-Section Id: 913943822
Question Shuffling Allowed : Yes

Question Id : 91394316332 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (145 to 150)
Juestion Label - Comprehension



Read the following table and answer questions :

Table : Demographic and Health Indicators of India and Major States
(taken from HMIS portal of NHM).

Neo Natal

S. | Mortality |\ p\p |cMr |MMR | TFR | o
No. | Ptate Rate | 9016 |2016 |2016 | 2016 | 20152016
(NNMR) (NFHS-IV)
2016
INDIA 24 34 39 130 2-3 47-8

1 | Andhra Pradesh 23 34 37 74 1-7 69-4
2 | Assam 23 44 52 237 2-3 37-0
3 | Bihar 27 38 43 165% 3-3 23-3
4 | Chhattisgarh 26 39 49 2-5 545
5 | Gujarat 21 30 33 91 2-2 43-1
6 | Haryana 22 33 37 101 2-3 294
7 | Karnataka 18 24 29 108 1-8 51-3
8 | Kerala 6 10 11 46 1-8 20-3
9 | M.P. 32 47 20 173%% 2-8 49-6
10 | Maharashtra 13 19 21 61 1-8 62-6
11 | Odisha 32 44 50 180 2-0 45-4
12 | Punjab 13 21 24 122 1-7 66-3
13 | Rajasthan 28 41 45 199 2-7 53-5
14 | Tamil Nadu 12 17 19 66 1-6 22-6
15 | U.P. 30 43 47 | 201%% | 3-1 31-7
16 | West Bengal 17 25 27 101 1-6 270

(1)

(11}

(111)

Sub questions

#* MMR of Bihar includes figure of Jharkhand

“# MMR of M.P. includes figure of Chhattisgarh

##% MMR of U.P. includes figure of Uttarakhand




Question Number : 145 Question Id : 91394316333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many States have lower NNMR than India ?

Options:
912394364177, 1
9
91:924364175.
8
91:94364179.
91394364180, 10

Question Number : 146 Question Id : 91394316334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many States have higher difference (in points) between IMR and CMR than India ?

Options:

4
91394264181,

5
D1394264182.

2
21394264183,
91394264154,

Question Number : 147 Question 1d : 91394316335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
How many States have higher CPR than India ?

Options:
915324364185, 10
31334364136, 12
91394364187, 1
9

21594264185,



Question Number : 148 Question Id : 91394316336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many States have CPR higher than India and TFR same or higher than India ?

Options:

o

912345641859,

912334564130,

91334564191,

21594264192,

Question Number : 149 Question Id : 91394316337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How many States have lower CPR than India and equal or higher TFR than India ?

Options:

913345641593,

21594264194,

913345641395,

912334564196,

Question Number : 150 Question Id : 91394316338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many States have lower difference (in points) between IME and CMR than India ?
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

91334564197, 13

91334564138,

21594264199, 14



912334564200, 12

Question Id : 91394316332 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (145 to 150)
Cesticn Label | Comprehiension
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Sub questions

AT g1 dl. 3,
_— - (I &) |7s.u9, 1. [l 09 397 |Ug vy 370, [ U 30, 2015 - 2016
(g 0y, 2016 2016 2016 2016 | (UH4.U%.U=,
3. 2016 uH.-IV)
Bieg 24 34 39 130 2-3 47-8
1 [ty wem 23 34 37 74 1-7 69-4
2 [|31EH 23 44 52 237 2-3 37-0
3[R 27 38 43 165% 3-3 23-3
4 [BHETG 26 39 49 2-5 545
5 s 21 30 33 91 2-2 43-1
6 [gfmom 22 33 37 101 2-3 59-4
7 [EARE® 18 24 29 108 1-8 51-3
8 [ G 10 11 46 1-8 50-3
9 [on.di. 32 47 55 173%* 2-8 49-6
10 [HamTs 13 19 21 61 1-8 626
11 [ifeam 32 44 50 180 2-0 45-4
12 |45 13 21 24 122 1-7 66-3
13 [rsTEH 28 41 45 199 2-7 53-5
14 [aferrs 12 17 19 66 16 526
15 [4.4. 30 43 47 201 #%% 3-1 31-7
16 [4. @re 17 25 27 101 16 57-0
(i) “ fagn & U4, U0 370, § HrEs & 36 NP 2
(1i) w5 7.Y, o UH.UH, A, U SHETE & ATHS I 2
(i)  *¥ 3.9, &% UR.UH, 3R, § ITREES & e IMH 7




Question Number : 145 Question Id : 91394316333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
feram =i & Wi <t gen H§ Freaa L e, 8 2
Options:

91334564177, 11

21594264175,

912334564173,

91334564180, 10

Question Number : 146 Question Id : 91394316334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore =l % o wm . ofR T TR, % o9 T wna i o § e (faga #) 2 2
Options:

91334564181,

o

91334564152,

91334564153,

912334564154,

Question Number : 147 Question Id : 91394316335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
forad st F ot e, wa f ge d I=a R 2

Options:

91334564155, 10

91334564156, 12

21594264187, 1

912345641558,



Question Number : 148 Question Id : 91394316336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feram Tl & W <t qen | @ od . sife oit & ouw. e i @ s R 2

Options:

o

91334564159,
91334364130,
912334564191,

913345641 3%.

Question Number : 149 Question Id : 91394316337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fera st ot ot s, w6t gern | e feeg I AU s @t W o e § A sl 2

Options:

913345641393,
91334564194,
913345641355,

91334564136,

Question Number : 150 Question Id : 91394316338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore =l % e e . ofl T wR. . % ot wwa i g | et st (faga #) 8 2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

91334564137, 13

912334564195,

9123345641935, 14



912334564200, 12



